X AY 33z >\ A —_
8 132 FEZ 2RABERFLB 2 ==> RS 8
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#1: 4 JIBH(105.47) #2: 18 [¥35(104.75) #3: 7 LLI75(104.53)
1 NS: HtEE =55 GE0) 4 1 1 NS: B8 EER(BAC) 18 VP:| 520 : 14.80| Total VP: 72.80 Rank:
EW: Br&ill EFIREAC) -18 EW: BIS1% FIEF(I0) -4 IMP:| 9 24 12
I
# 11 s KJT74 6NS6 990 Mean: 6NS6 990 40 6 |[# 12 s QJ4 3NE-1 50 Mean: 1NXN2 380 100 1
v K75 6HN7 1010 860  6HS7 1010 4.0 1 v AKQT9 1NN-2 -200 -60  1NN1 90 40 1
+ Q6 Dif: -20 NS:4  6HN7 1010 4.0 2 + 873 Dif: 250 NS:3  3NE-1 50 30 5
& AK5 IMP: -1 EW:-4 6HS6 980 3.0 4 » K8 IMP: 6 EW:4 1NN-1 100 -1.0 4
4 8532 s Q9 6HN6 980 30 1 ||a 986 & AK7 3CE4 4130 20 1
v 6432 v8 5HS7 510 -80 1 ||w 52 I v J763 2NE2 120 20 1
¢ 974 * KJT82 4SN6 480 -90 2 ||e AT5 + KQ4 28XS-1 200 40 1
& J3 » T8762 3HS6 230 -12.0 1 ||& AT963 » QJ5 1NXN-1 200 -40 1
B+ oV BN 4A6 oV ABN 4, T532 1NN-2 200 40 1
N ~~777 vAQJT9 N ~~~~~ v 84 28S-3 300 -6.0 1
S ~~777 ¢A53 S ~~n~~~ « J962 3NE3 400 8.0 1
E ~~~~~ » Q94 E 3~~~2 4742
W ~~~~~ W 3 ~~~2
#13 » K3 4HS4 620 Mean: 4HS5 650 1.0 3 ||# 14 » AKQ 4SE-150 Mean: 4SXE-1 100 30 1
v 8632 4HS5 650 620 4HS4 620 00 10 v 75 4SXE-1100 -20  4SE-1 50 20 9
+ K83 Dif: -30 NS:0 4HN4 620 00 3 ¢ J972 Dif: -50 NS:2 4HW-1 50 20 1
& J983 IMP: -1 EW:-1 3NS4 630 00 2 & 17643 IMP: -2 EW:-3 3HW-1 50 20 1
& J96 N » QT852 & T742 » J9653 3SE3 140 -3.0 1
v K974 v Q v KJ84 v A962 2SW3 140 3.0 1
¢ JT6 + ¢ 9542 + Q64 ¢ A8 2SE3 140 -3.0 1
T52 a K74 a AK a J2 1SE3 140 3.0 1
e VABN A4 oo VAN o8 3SE4 170 40 1
N 5~5~4 ¢AJTS N 21~~~ »QT3 4SE4 420 9.0 1
S 5~5~4 ¢AQ7 S 21~~~ ¢KT53
E ~~~~~ & AQ6 E ~~332 & Q9875
W ~~~~~ W ~~332
# 15 o AT 2CN-2 -200 Mean: 1NW-3 150 3.0 2 ||# 16 a4 A85 1HN1 80 Mean: 1NXW-2 500 10.0 1
vT5 1NN2120 50  1NN3 150 3.0 2 v AJT9 1NN2120 50  3NS3 400 8.0 1
* KJ95 Dif: -320 NS:-6 1NW-2 100 20 3 + 963 Dif: -40 NS:1 2SW-1 100 20 1
» A8753 IMP: -8 EW:-2 1NN2 120 2.0 1 » 873 IMP: -1 EW:-2 2SE-1 100 20 1
# 753 & Q9842 1NN1 90 1.0 2 ||s QJ2 » T9763 1NN2 120 20 1
v A862 v QJ4 2SE-1 50 00 1 ||ew K532 — v 84 2DN2 90 1.0 1
¢ AT + Q63 1NW-1 50 00 3 ||e QT72 * K 1NS1 90 1.0 3
& K642 » JT 3DN-1 4100 -40 1 ||a K6 » AJ542 1HN1 80 1.0 1
% ¢ VAN 4,KI6 3CN-1 100 -40 1 FOVAN 4 KI P 0 20 2
N 32~~2 ¢ K973 1NN-1 100 -40 1|IN ~22~2 ¢ Q76 3NN-2 100 40 1
S 33 ~~2 48742 2CN-2 200 60 1||S ~22~2 ¢ AJ854 2sW2 110 40 2
E ~~~1~a&Q9 E1~~1~ &QT9 2SE2 110 40 2
W ~~~1~ W 1~~1~ 1NW1 90 4.0 1
# 17 aJ 3CS-1-50 Mean: 3CS3 110 3.0 4 ||# 18 s AT73 3HS3 140 Mean: 4HS5 650 7.0 2
v Q9 3NS-2-100 © 3CN3 110 3.0 3 v AQJ4 4HS5 650 340  4HS4 620 7.0 3
¢ 9853 Dif: 50 NS:-2 1NS1 90 30 1 + Q65 Dif: -510 NS:-5 4HN4 620 7.0 2
& KJ8765 IMP: 2 EW:3 3NS-1 50 20 1 & 87 IMP: -11 EW:-7 1NE-5 250 3.0 1
» T832 & AK75 3CS-1 50 20 1 ||s QJ986 a 54 3HS5 200 40 1
v 765 v T843 3CN-1 50 20 4 ||e K83 | v T5 3HN5 200 40 1
+ AJ62 . T7 4CS-2 4100 30 1 ||e 72 * KJ43 2SW-4 200 40 2
& AT » Q92 3NS-2 100 -30 2 ||s Q95 » AT643 3HS4 170 5.0 1
® VSN o, Q964 3NN-3 150 -40 1 ¢VAN 2 K2 3HS3 140 50 1
N 21~~1 v AKJ2 N ~45~2 ¢ 9762 3HN4 170 5.0 1
S 21~~1 ¢ K4 S ~45~4 ¢ AT9 2SW-3 150 5.0 2
E ~~~1~ 243 E ~~~~~ & KJ2 3NN-1 100 -10.0 1
W ~~~1+~ W ~ ~~~~
# 19 s Q 3NN5 460 Mean: 4NS5 460 40 2 ||# 20 4 J3 2HN2 110 Mean: 4SE-2 200 50 1
v A654 4SS4.420 320 4NN5 460 40 1 v A74 2HN2110 © 3HS3 140 40 1
+ AQT Dif: 40 NS:4 3NS5 460 40 2 + K95 Dif: 0 NS:3 4DW-1 100 30 2
& AQT73 IMP: 1 EW:-3 3NN5 460 40 5 & AKJ72 IMP: 0 EW:-3 3CN3 110 3.0 1
46 & KJ875 4884 420 30 1 ||aAQ # T87652 2HN2 110 30 3
v J82 v QT93 4NS4 430 30 1 ||v Q5 _I_ v KJ6 3HN-1 100 -3.0 4
¢ J9872 ¢ 65 4NN4 430 3.0 1 ||e AJT8742 * Q3 3DW3 110 3.0 2
& K942 » 86 3NN4 430 30 1 ||as85 » 93 2SE2 110 3.0 2
%o ¢ VAN 4AT432 6SS-2 4100 9.0 2 oV AN 4 KM 2DW3 410 3.0 1
N 5~~54 ¢K7 6NN-2 4100 -90 2 |IN 3 ~2~1 ¢ T9832 4CN-2 200 -5.0 1
S 5~~54 ¢K43 S 3~2~1 ¢6
E ~~~~~ & J5 E ~3~2~ &QT64
W ~~~~~ W ~3~2~
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8 113&;«1 &Wﬁﬁm% e ==> R 8
2 NS: ST, Fié—r(ﬁﬁom 14 NS: %m. M*E‘E(Fx‘iC) 11| VP:| 8.50 : 11.50| Total VP: 73.35 Rank:
EW: BE#ES BEESFEAC) -11 EW: ZhiEE BREEL\(BAO) -6) IMP:| 16 20 1
I
# 11 s KJT74 6HN7 1010 Mean: 6NS6 990 40 6 ||# 12 » QJ4 1NN-1 -100 Mean: 1NXN2 380 100 1
v K75 6NS6 990 860  6HS7 1010 4.0 1 v AKQT9 3NE-150 -60  1NN1 90 40 1
+ Q6 Dif: 20 NS:4  6HN7 1010 4.0 2 + 873 Dif: -150 NS:-1 3NE-1 50 30 5
& AK5 IMP: 1 EW:-4 6HS6 980 3.0 4 » K8 IMP: -4 EW:-3 1NN-1 100 -1.0 4
4 8532 s Q9 6HN6 980 30 1 ||a 986 & AK7 3CE4 4130 20 1
v 6432 v8 5HS7 510 -80 1 ||w 52 I v J763 2NE2 120 20 1
¢ 974 * KJT82 4SN6 480 -90 2 ||e AT5 + KQ4 28XS-1 200 40 1
& J3 » T8762 3HS6 230 -12.0 1 ||& AT963 » QJ5 1NXN-1 200 -40 1
B+ oV BN 4A6 oV ABN 4, T532 1NN-2 200 40 1
N ~~777 vAQJT9 N ~~~~~ v 84 28S-3 300 -6.0 1
S ~~777 ¢A53 S ~~n~~~ « J962 3NE3 400 8.0 1
E ~~~~~ & Q94 E 3~~~2 #1742
W ~~~~~ W 3 ~~~2
#13 » K3 4HN4 620 Mean: 4HS5 650 1.0 3 ||# 14 » AKQ 4SE-150 Mean: 4SXE-1 100 30 1
v 8632 4HS5 650 620 4HS4 620 00 10 v 75 4HW-150 -20  4SE-1 50 20 9
+ K83 Dif: -30 NS:0 4HN4 620 00 3 ¢ J972 Dif: 0 NS:2 4HW-1 50 20 1
& J983 IMP: -1 EW:-1 3NS4 630 00 2 & 17643 IMP: 0 EW:-2 3HW-1 50 20 1
& J96 N » QT852 & T742 » J9653 3SE3 140 -3.0 1
v K974 v Q v KJ84 v A962 2SW3 140 3.0 1
¢ JT6 + ¢ 9542 + Q64 ¢ A8 2SE3 140 -3.0 1
T52 a K74 a AK a J2 1SE3 140 3.0 1
e VABN A4 oo VAN o8 3SE4 170 40 1
N 5~5~4 ¢AJTS N 21~~~ »QT3 4SE4 420 9.0 1
S 5~5~4 ¢AQ7 S 21~~~ ¢KT53
E ~~~~~ & AQ6 E ~~332 & Q9875
W ~~~~~ W ~~332
# 15 o AT 1NN1 90 Mean: 1NW-3 150 3.0 2 ||# 16 a4 A85 3NN-2 -100 Mean: 1NXW-2 500 100 1
vT5 1NW-2100 50  1NN3 150 3.0 2 v AJT9 1NXW-2500 50  3NS3 400 8.0 1
* KJ95 Dif: 10 NS:1  1NW-2 100 20 3 + 963 Dif: -600 NS:-4 2SW-1 100 20 1
» A8753 IMP: 0 EW:-2 1NN2 120 2.0 1 » 873 IMP: -12 EW:-10 2SE-1 100 20 1
# 753 & Q9842 1NN1 90 1.0 2 ||s QJ2 » T9763 1NN2 120 20 1
v A862 v QJ4 2SE-1 50 00 1 ||v K532 — v 84 2DN2 90 1.0 1
¢ AT + Q63 1NW-1 50 00 3 ||e QT72 * K 1NS1 90 1.0 3
& K642 » JT 3DN-1 4100 -40 1 ||a K6 » AJ542 1HN1 80 1.0 1
% ¢ VAN 4,KI6 3CN-1 100 -40 1 FOVAN 4 KI P 0 20 2
N 32~~2 ¢ K973 1NN-1 100 -40 1|IN ~22~2 ¢ Q76 3NN-2 100 40 1
S 33 ~~2 48742 2CN-2 200 60 1||S ~22~2 ¢ AJ854 2sW2 110 40 2
E ~~~1~a&Q9 E1~~1~ &QT9 2SE2 110 40 2
W ~~~1~ W 1~~1~ 1NW1 90 4.0 1
# 17 aJ 3CN3 110 Mean: 3CS3 110 3.0 4 ||# 18 s AT73 2SW-3 150 Mean: 4HS5 650 7.0 2
v Q9 3CN-1-50 0 3CN3 110 3.0 3 v AQJ4 3HN5 200 340  4HS4 620 7.0 3
¢ 9853 Dif: 160 NS:3 1NS1 90 30 1 + Q65 Dif: -50 NS:-5 4HN4 620 7.0 2
& KJ8765 IMP: 4 EW:2 3NS-1 50 20 1 & 87 IMP: -2 EW:4 1NE-5 250 3.0 1
» T832 & AK75 3CS-1 50 20 1 ||s QJ986 a 54 3HS5 200 40 1
v 765 v T843 3CN-1 50 20 4 ||e K83 | v T5 3HN5 200 40 1
+ AJ62 . T7 4CS-2 4100 30 1 ||e 72 * KJ43 2SW-4 200 40 2
& AT » Q92 3NS-2 100 -30 2 ||s Q95 » AT643 3HS4 170 5.0 1
® VSN o, Q964 3NN-3 150 -40 1 ¢VAN 2 K2 3HS3 140 50 1
N 21~~1 v AKJ2 N ~45~2 ¢ 9762 3HN4 170 5.0 1
S 21~~1 ¢ K4 S ~45~4 ¢ AT9 2SW-3 150 5.0 2
E ~~~1~ 243 E ~~~~~ & KJ2 3NN-1 100 -10.0 1
W ~~~1+~ W ~ ~~~~
# 19 s Q 4NN4 430 Mean: 4NS5 460 40 2 ||# 20 4 J3 4DW-1100 Mean: 4SE-2 200 50 1
v A654 6NN-2 -100 320  4NN5 460 40 1 v A74 3HS3140 © 3HS3 140 40 1
+ AQT Dif: 530 NS:3 3NS5 460 40 2 + K95 Dif: -40 NS:3 4DW-1 100 30 2
& AQT73 IMP: 11 EW:9 3NN5 460 40 5 & AKJ72 IMP: -1 EW:-4 3CN3 110 3.0 1
46 & KJ875 4884 420 30 1 ||aAQ # T87652 2HN2 110 30 3
v J82 v QT93 4NS4 430 30 1 ||v Q5 _I_ v KJ6 3HN-1 100 -3.0 4
¢ J9872 ¢ 65 4NN4 430 3.0 1 ||e AJT8742 * Q3 3DW3 110 3.0 2
& K942 » 86 3NN4 430 30 1 ||as85 » 93 2SE2 110 3.0 2
%o ¢ VAN 4AT432 6SS-2 4100 9.0 2 oV AN 4 KM 2DW3 410 3.0 1
N 5~~54 K7 6NN-2 4100 -90 2 |IN 3 ~2~1 ¢ T9832 4CN-2 200 -5.0 1
S 5~~54 ¢K43 S 3~2~1 ¢6
E ~~~~~ & J5 E ~3~2~ &QT64
W ~~~~~ W ~3~2~




X AY 33z >\ A —_
8 113 EXF 2 ABERFL>B 2 ==> RS 8
1 +
#1: 4 JIBH(105.47) #2: 18 [¥35(104.75) #3: 7 LLI75(104.53)
3 NS: B FEHR$E(GHO) -23 5 NS: FREISZ SBER(BAC) -4 VP:| 4.71 15.29| Total VP: 47.55 Rank:
EW: B2 BaEEEIC) 4 EW: Z30&E FIE#E(BAO) 23 IMP:| 6 23 18
I
# 11 s KJT74 5HS7 510 Mean: 6NS6 990 40 6 |[# 12 s QJ4 3CE4 -130 Mean: 1NXN2 380 100 1
v K75 6NS6 990 860  6HS7 1010 4.0 1 v AKQT9 1NN-1-100 -60  1NN1 90 40 1
+ Q6 Dif: -480 NS:-8 6HN7 1010 4.0 2 + 873 Dif: -30 NS:-2 3NE-1 50 30 5
& AK5 IMP: -10 EW:-4 6HS6 980 3.0 4 » K8 IMP: -1 EW:1  1NN-1 100 -1.0 4
4 8532 s Q9 6HN6 980 30 1 ||a 986 & AK7 3CE4 4130 20 1
v 6432 v8 5HS7 510 -80 1 ||w 52 I v J763 2NE2 120 20 1
¢ 974 * KJT82 4SN6 480 -90 2 ||e AT5 + KQ4 28XS-1 200 40 1
& J3 » T8762 3HS6 230 -12.0 1 ||& AT963 » QJ5 1NXN-1 200 -40 1
B+ oV BN 4A6 oV ABN 4, T532 1NN-2 200 40 1
N ~~777 vAQJT9 N ~~~~~ v 84 28S-3 300 -6.0 1
S ~~777 ¢A53 S ~~n~~~ « J962 3NE3 400 8.0 1
E ~~~~~ & Q94 E 3~~~2 #1742
W ~~~~~ W 3 ~~~2
#13 » K3 4HS4 620 Mean: 4HS5 650 1.0 3 ||# 14 » AKQ 4SE-150 Mean: 4SXE-1 100 30 1
v 8632 3NS4 630 620 4HS4 620 00 10 w75 2SW3 -140 -20  4SE-1 50 20 9
+ K83 Dif: 10 NS:0 4HN4 620 00 3 ¢ J972 Dif: 190 NS:2  4HW-1 50 20 1
& J983 IMP: 0 EW:0 3NS4 630 00 2 & 17643 IMP: 5 EW:3 3HW-1 50 20 1
& J96 N » QT852 & T742 » J9653 3SE3 140 -3.0 1
v K974 v Q v KJ84 v A962 2SW3 140 3.0 1
¢ JT6 + ¢ 9542 + Q64 ¢ A8 2SE3 140 -3.0 1
T52 a K74 a AK a J2 1SE3 140 3.0 1
e VABN A4 oo VAN o8 3SE4 170 40 1
N 5~5~4 ¢AJTS N 21~~~ »QT3 4SE4 420 9.0 1
S 5~5~4 ¢AQ7 S 21~~~ ¢KT53
E ~~~~~ & AQ6 E ~~332 & Q9875
W ~~~~~ W ~~332
# 15 o AT 3CN-1-100 Mean: 1NW-3 150 3.0 2 ||# 16 a4 A85 2SE2 -110 Mean: 1NXW-2 500 100 1
vT5 1NN190 50  1NN3 150 3.0 2 v AJT9 1NS190 50  3NS3 400 8.0 1
* KJ95 Dif: -190 NS:-4 1NW-2 100 20 3 + 963 Dif: -200 NS:-4 2SW-1 100 20 1
» A8753 IMP: -5 EW:-1 1NN2 120 2.0 1 » 873 IMP: -5 EW:-1 2SE-1 100 20 1
# 753 & Q9842 1NN1 90 1.0 2 ||s QJ2 » T9763 1NN2 120 20 1
v A862 v QJ4 2SE-1 50 00 1 ||v K532 — v 84 2DN2 90 1.0 1
¢ AT + Q63 1NW-1 50 00 3 ||e QT72 * K 1NS1 90 1.0 3
& K642 a JT 3DN-1 4100 -40 1 ||a K6 » AJ542 1HN1 80 1.0 1
% ¢ VAN 4,KI6 3CN-1 100 -40 1 *eVAN o KE P 0 20 2
N 32~~2 ¢ K973 1NN-1 100 -40 1|IN ~22~2 ¢ Q76 3NN-2 100 40 1
S 33 ~~2 48742 2CN-2 200 60 1||S ~22~2 ¢ AJ854 25W2 110 40 2
E ~~~1~a&Q9 E1~~1~ &QT9 2SE2 110 40 2
W ~~~1~ W 1~~1~ 1NW1 90 4.0 1
# 17 aJ 4CS-2-100 Mean: 3CS3 110 3.0 4 ||# 18 s AT73 3HS4 170 Mean: 4HS5 650 7.0 2
v Q9 3CN-1-50 0 3CN3 110 3.0 3 v AQJ4 2SW-3150 340  4HS4 620 7.0 3
¢ 9853 Dif: -50 NS:-3 1NS1 90 30 1 + Q65 Dif: 20 NS:-5 4HN4 620 7.0 2
& KJ8765 IMP: -2 EW:2 3NS-1 50 20 1 & 87 IMP: 1 EW:5 1NE-5 250 3.0 1
» T832 & AK75 3CS-1 50 20 1 ||s QJ986 a 54 3HS5 200 40 1
v 765 v T843 3CN-1 50 20 4 ||e K83 | v T5 3HN5 200 40 1
+ AJ62 . T7 4CS-2 4100 30 1 ||e 72 * KJ43 2SW-4 200 40 2
& AT » Q92 3NS-2 100 -30 2 ||s Q95 » AT643 3HS4 170 5.0 1
® VAN 4, Q94 3NN-3 150 -40 1 ¢VAN 2 K2 3HS3 140 50 1
N 21~~1 v AKJ2 N ~45~2 ¢ 9762 3HN4 170 5.0 1
S 21~~1 ¢ K4 S ~45~4 ¢ AT9 2SW-3 150 5.0 2
E ~~~1~ 243 E ~~~~~ & KJ2 3NN-1 100 -10.0 1
W ~~~1+~ W ~ ~~~~
# 19 s Q 3NN5 460 Mean: 4NS5 460 40 2 ||# 20 4 J3 2SE2 -110 Mean: 4SE-2 200 50 1
v A654 3NN5 460 320 4NN5 460 40 1 v A74 3HN-1-100 o0 3HS3 140 40 1
+ AQT Dif: 0 NS:4 3NS5 460 40 2 + K95 Dif: -10 NS:-3 4DW-1 100 30 2
& AQT73 IMP: 0 EW:-4 3NN5 460 40 5 & AKJ72 IMP: 0 EW:3 3CN3 110 3.0 1
46 & KJ875 4884 420 30 1 ||aAQ # T87652 2HN2 110 30 3
v J82 v QT93 4NS4 430 30 1 ||v Q5 _I_ v KJ6 3HN-1 100 -3.0 4
¢ J9872 ¢ 65 4NN4 430 3.0 1 ||e AJT8742 * Q3 3DW3 110 3.0 2
& K942 » 86 3NN4 430 30 1 ||as85 » 93 2SE2 110 3.0 2
%o ¢ VAN 4AT432 6SS-2 4100 9.0 2 oV AN 4 KM 2DW3 410 3.0 1
N 5~~54 ¢K7 6NN-2 100 -90 2 |IN 3 ~2~1 ¢ T9832 4CN-2 200 -5.0 1
S 5~~54 ¢K43 S 3~2~1 ¢6
E ~~~~~ & J5 E ~3~2~ &QT64
W ~~~~~ W ~3~2~




113# FX & 2FMpERF >R

® ==> R8

#1: 4 JBH (105.47) #2: 18 FFR(104.75) #3 7 [J_I(104 53)

4 NS: E=EE £HEAGBEO) 3 NS: R E#E sRIZFE(EAC) 1 | VP:| 8.50 11.50 | Total VP: 105.47 Rank:
EW: E&H 2k J51EEAC) -1 EW: BfFfZ 40 % (BAO) -3| IMP:| 18 : 22 1
I
# 11 s KJT74 6NS6 990 6NS6 990 40 6 ||# 12 » QJ4 1NXN-1 -200 Mean: 1NXN2 380 100 1
v K75 6HS6 980 6HS7 1010 4.0 1 v AKQT9 1NN-1-100 -60  1NN1 90 40 1
+ Q6 Dif: 10 6HN7 1010 4.0 2 + 873 Dif: -100 NS:-4 3NE-1 50 30 5
& AK5 IMP: 0 6HS6 980 3.0 4 » K8 IMP: -3 EW:1  1NN-1 100 -1.0 4
4 8532 s Q9 6HN6 980 30 1 ||a 986 & AK7 3CE4 4130 20 1
v 6432 v8 5HS7 510 -80 1 ||w 52 I v J763 2NE2 120 20 1
¢ 974 * KJT82 4SN6 480 -90 2 ||e AT5 + KQ4 28XS-1 200 40 1
& J3 » T8762 3HS6 230 -12.0 1 ||& AT963 » QJ5 1NXN-1 200 -40 1
B+ oV BN 4A6 oV ABN 4, T532 1NN-2 200 40 1
~~777 »AQJT9 N ~~~~~ v 84 28S-3 300 -6.0 1
~~777 o¢A53 S ~~~~~ * J962 3NE3 400 -80 1
~~~~~ » Q94 E 3~~~2 #1742
~~~~~ W 3 ~~~2
#13 » K3 4HS4 620 4HS5 650 1.0 3 ||# 14 » AKQ 4SE-150 Mean: 4SXE-1 100 30 1
v 8632 4HS4 620 4HS4 620 00 10 v 75 4SE-150 -20  4SE-1 50 20 9
+ K83 Dif: 0 4HN4 620 00 3 ¢ J972 Dif: 0 NS:2 4HW-1 50 20 1
& J983 IMP: 0 3NS4 630 00 2 & 17643 IMP: 0 EW:-2 3HW-1 50 20 1
& J96 N » QT852 & T742 » J9653 3SE3 140 -3.0 1
v K974 v Q v KJ84 v A962 2SW3 140 3.0 1
¢ JT6 + ¢ 9542 + Q64 ¢ A8 2SE3 140 -3.0 1
T52 » K74 & AK a J2 1SE3 140 3.0 1
e VABN A4 oo VAN o8 3SE4 170 40 1
N 5~5~4 ¢AJTS N 21~~~ »QT3 4SE4 420 9.0 1
S 5~5~4 ¢AQ7 S 21~~~ ¢KT53
~~~~~ & AQ6 E ~~332 & Q9875
~~~~~ W ~~332
# 15 o AT 1NW-2 100 1NW-3 150 3.0 2 ||# 16 a4 A85 2DN2 90 Mean: 1INXW-2 500 10.0 1
vT5 1NN3 150 1NN3 150 3.0 2 v AJT9 1NS1 90 3NS3 400 8.0 1
* KJ95 Dif: -50 1NW-2 100 20 3 + 963 Dif: 0 NS:1  2SwW-1 100 20 1
» A8753 IMP: -2 1NN2 120 2.0 1 » 873 IMP: 0 EW:-1 2SE-1 100 20 1
s 753 & Q9842 1NN1 90 1.0 2 ||s QJ2 » T9763 1NN2 120 20 1
v A862 v QJ4 2SE-1 50 00 1 ||ew K532 — v 84 2DN2 90 1.0 1
¢ AT + Q63 1NW-1 50 00 3 ||e QT72 * K 1NS1 90 1.0 3
& K642 a JT 3DN-1 4100 -40 1 ||a K6 » AJ542 1HN1 80 1.0 1
% ¢ VAN 4,KI6 3CN-1 100 -40 1 *eVAN o KE P 0 20 2
32~~2 vK973 1NN-1 100 -40 1|IN ~22~2 ¢ Q76 3NN-2 100 40 1
33 ~~2 ¢8742 2CN-2 200 60 1||S ~22~2 ¢ AJ854 25W2 110 40 2
~~~1~ &Q9 E1~~1~ &QT9 2SE2 110 40 2
~~~1~ W 1~~1~ 1NW1 90 4.0 1
# 17 aJ 3CS3 110 3CSs3 110 3.0 4 ||# 18 s AT73 4HN4 620 Mean: 4HS5 650 7.0 2
v Q9 3NN-3 -150 3CN3 110 3.0 3 v AQJ4 3NN-1-100 340 4HS4 620 7.0 3
¢ 9853 Dif: 260 1NS1 90 30 1 + Q65 Dif: 720 NS:7  4HN4 620 7.0 2
& KJ8765 IMP: 6 3NS-1 50 20 1 & 87 IMP: 12 EW:10 1NE-5 250 3.0 1
» T832 & AK75 3CS-1 50 20 1 ||s QJ986 a 54 3HS5 200 40 1
v 765 v T843 3CN-1 50 20 4 ||e K83 | v T5 3HN5 200 40 1
+ AJ62 *T7 4CS-2 4100 30 1 ||e 72 * KJ43 2SW-4 200 40 2
& AT » Q92 3NS-2 100 -30 2 ||s Q95 » AT643 3HS4 170 5.0 1
® VAN 4, Q94 3NN-3 150 -40 1 ¢VAN 4 K2 3HS3 140 50 1
21 ~~1 vAKJ2 N ~45~2 ¢ 9762 3HN4 170 5.0 1
21~~1 ¢ KQ4 S ~45~4 ¢ AT98 2SW-3 150 5.0 2
~~~1~ 243 E ~~~~~ & KJ2 3NN-1 100 -10.0 1
~ o~~~ W ~~~ ~ ~
#19 s Q 6SS-2 -100 4NS5 460 40 2 ||# 20 a4 J3 2DW3 -110 Mean: 4SE-2 200 50 1
v A654 3NS5 460 4NN5 460 40 1 v A74 2HN2 110 3HS3 140 40 1
+ AQT Dif: -560 3NS5 460 40 2 + K95 Dif: -220 NS:-3 4DW-1 100 30 2
& AQT73 IMP: -11 3NN5 460 40 5 & AKJ72 IMP: -6 EW:-3 3CN3 110 30 1
& KJ875 4S54 420 30 1 ||aAQ # T87652 2HN2 110 30 3
82 v QT93 4NS4 430 30 1 ||v Q5 _I_ v KJ6 3HN-1 100 -3.0 4
9872 ¢ 65 4NN4 430 3.0 1 ||e AJT8742 + Q3 3DW3 110 3.0 2
K942 »~ 86 3NN4 430 30 1 ||as85 » 93 2SE2 110 3.0 2
%o ¢ VAN 4AT432 6SS-2 4100 9.0 2 oV AN 4 KM 2DW3 410 3.0 1
5~~54 9K7 6NN-2 100 -90 2 |IN 3 ~2~1 ¢ T9832 4CN-2 200 -5.0 1
5~~54 ¢K43 S 3~2~1 ¢6
~~~~~ & J5 E ~3~2~ &QT64
~~~~~ W ~3~2~




X AY 33z >\ A —_
8 132 FEZ 2RABERFLB 2 ==> RS 8
1 +
#1: 4 JIBH(105.47) #2: 18 [¥35(104.75) #3: 7 LLI75(104.53)
5 NS: BRESZ SREFREAC) -4 3 NS: E¥3038 PEIREE(BAO) -2 VP:[ 15.29 : 4.7 Total VP: 98.55 Rank:
EW: & 08 FEEHO) 23 EW: BfsI X EiE&(BAC) 4 IMP:| 23 6 5
I
# 11 s KJT74 5HS7 -510 Mean: 6NS6 990 40 6 |[# 12 s QJ4 3CE4 130 Mean: 1NXN2 380 100 1
v K75 6NS6 -990 860  6HS7 1010 4.0 1 v AKQT9 1NN-1 100 -60  1NN1 90 40 1
+ Q6 Dif: 480 NS:4 6HN7 1010 4.0 2 + 873 Dif: 30 NS:-1  3NE-1 50 30 5
& AK5 IMP: 10 EW:8 6HS6 980 3.0 4 » K8 IMP: 1 EW:2 1NN-1 100 -1.0 4
4 8532 s Q9 6HN6 980 30 1 ||a 986 & AK7 3CE4 4130 20 1
v 6432 v8 5HS7 510 -80 1 ||w 52 I v J763 2NE2 120 20 1
¢ 974 * KJT82 4SN6 480 -90 2 ||e AT5 + KQ4 28XS-1 200 40 1
& J3 » T8762 3HS6 230 -12.0 1 ||& AT963 » QJ5 1NXN-1 200 -40 1
B+ oV BN 4A6 oV ABN 4, T532 1NN-2 200 40 1
N ~~777 vAQJT9 N ~~~~~ v 84 28S-3 300 -6.0 1
S ~~777 ¢A53 S ~~n~~~ « J962 3NE3 400 8.0 1
E ~~~~~ & Q94 E 3~~~2 #1742
W ~~~~~ W 3 ~~~2
#13 » K3 4HS4 -620 Mean: 4HS5 650 1.0 3 ||# 14 » AKQ 4SE-1-50 Mean: 4SXE-1 100 30 1
v 8632 3NS4 -630 620 4HS4 620 00 10 w75 2SW3 140 -20  4SE-1 50 20 9
+ K83 Dif: 10 NS:0 4HN4 620 00 3 ¢ J972 Dif: -190 NS:-3  4HW-1 50 20 1
& J983 IMP: 0 EW:0 3NS4 630 00 2 & 17643 IMP: -5 EW:-2 3HW-1 50 20 1
& J96 N » QT852 & T742 » J9653 3SE3 140 -3.0 1
v K974 v Q v KJ84 v A962 2SW3 140 3.0 1
¢ JT6 + ¢ 9542 + Q64 ¢ A8 2SE3 140 -3.0 1
T52 a K74 a AK a J2 1SE3 140 3.0 1
e VABN A4 oo VAN o8 3SE4 170 40 1
N 5~5~4 oAJT5 N 21~~~ »QT3 4SE4 420 9.0 1
S 5~5~4 ¢AQ7 S 21~~~ ¢KT53
E ~~~~~ & AQ6 E ~~332 & Q9875
W ~~~~~ W ~~332
# 15 o AT 3CN-1100 Mean: 1NW-3 150 3.0 2 ||# 16 a4 A85 2SE2 110 Mean: 1NXW-2 500 100 1
vT5 1NN1-90 50  1NN3 150 3.0 2 v AJT9 1NS1-90 50  3NS3 400 8.0 1
* KJ95 Dif: 190 NS:1  1NW-2 100 20 3 + 963 Dif: 200 NS:1  2SW-1 100 20 1
» A8753 IMP: 5 EW:4 1NN2 120 2.0 1 » 873 IMP: 5 EW:4 2SE-1 100 20 1
# 753 & Q9842 1NN1 90 1.0 2 ||s QJ2 » T9763 1NN2 120 20 1
v A862 v QJ4 2SE-1 50 00 1 ||v K532 — v 84 2DN2 90 1.0 1
¢ AT + Q63 1NW-1 50 00 3 ||e QT72 * K 1NS1 90 1.0 3
& K642 a JT 3DN-1 4100 -40 1 ||a K6 » AJ542 1HN1 80 1.0 1
% ¢ VAN 4,KI6 3CN-1 100 -40 1 *eVAN o KE P 0 20 2
N 32~~2 ¢ K973 1NN-1 100 -40 1|IN ~22~2 ¢ Q76 3NN-2 100 40 1
S 33 ~~2 48742 2CN-2 200 60 1||S ~22~2 ¢ AJ854 25W2 110 40 2
E ~~~1~a&Q9 E1~~1~ &QT9 2SE2 110 40 2
W ~~~1~ W 1~~1~ 1NW1 90 4.0 1
# 17 aJ 4CS-2100 Mean: 3CS3 110 3.0 4 ||# 18 s AT73 3HS4 -170 Mean: 4HS5 650 7.0 2
v Q9 3CN-150 o0 3CN3 110 3.0 3 v AQJ4 2SW-3 -150 340  4HS4 620 7.0 3
¢ 9853 Dif: 50 NS:-2 1NS1 90 30 1 + Q65 Dif: -20 NS:-5 4HN4 620 7.0 2
& KJ8765 IMP: 2 EW:3 3NS-1 50 20 1 & 87 IMP: -1 EW:5 1NE-5 250 3.0 1
» T832 & AK75 3CS-1 50 20 1 ||s QJ986 a 54 3HS5 200 40 1
v 765 v T843 3CN-1 50 20 4 ||e K83 | v T5 3HN5 200 40 1
+ AJ62 . T7 4CS-2 4100 30 1 ||e 72 * KJ43 2SW-4 200 40 2
& AT » Q92 3NS-2 100 -30 2 ||s Q95 » AT643 3HS4 170 5.0 1
® VAN 4, Q94 3NN-3 150 -40 1 ¢VAN 2 K2 3HS3 140 50 1
N 21~~1 v AKJ2 N ~45~2 ¢ 9762 3HN4 170 5.0 1
S 21~~1 ¢ K4 S ~45~4 ¢ AT9 2SW-3 150 5.0 2
E ~~~1~ 243 E ~~~~~ & KJ2 3NN-1 100 -10.0 1
W ~~~1+~ W ~ ~~~~
# 19 s Q 3NN5 -460 Mean: 4NS5 460 40 2 ||# 20 4 J3 2SE2 110 Mean: 4SE-2 200 50 1
v A654 3NN5 -460 320 4NN5 460 40 1 v A74 3HN-1100 o0 3HS3 140 40 1
+ AQT Dif: 0 NS:4 3NS5 460 40 2 + K95 Dif: 10 NS:-3 4DW-1 100 30 2
& AQT73 IMP: 0 EW:-4 3NN5 460 40 5 & AKJ72 IMP: 0 EW:3 3CN3 110 3.0 1
46 & KJ875 4884 420 30 1 ||aAQ # T87652 2HN2 110 30 3
v J82 v QT93 4NS4 430 30 1 ||v Q5 _I_ v KJ6 3HN-1 100 -3.0 4
¢ J9872 ¢ 65 4NN4 430 3.0 1 ||e AJT8742 * Q3 3DW3 110 3.0 2
& K942 »~ 86 3NN4 430 30 1 ||as85 » 93 2SE2 110 3.0 2
%o ¢ VAN 4AT432 6SS-2 4100 9.0 2 oV AN 4 KM 2DW3 410 3.0 1
N 5~~54 ¢K7 6NN-2 100 -90 2 |IN 3 ~2~1 ¢ T9832 4CN-2 200 -5.0 1
S 5~~54 ¢K43 S 3~2~1 ¢6
E ~~~~~ & J5 E ~3~2~ &QT64
W ~~~~~ W ~3~2~




X AY 33z >\ A —_
8 113 EXF 2 ABERFL>B 2 ==> RS 8
1 +
#1: 4 JIBH(105.47) #2: 18 [¥35(104.75) #3: 7 LLI75(104.53)
6 NS: 2@ BEERGHO) 4 1 3 NS: #F{ZE EE(FC) -22 VP:| 16.59 : 3.41 Total VP: 75.99 Rank:
EW: SE7A HEREIC) 22 EW: 221 &= hR(B0) -4 IMP:| 32 9 9
I
# 11 s KJT74 6HNG6 980 Mean: 6NS6 990 40 6 |[# 12 s QJ4 1NN1 90 Mean: 1NXN2 380 100 1
v K75 4SN6 480 860  6HS7 1010 4.0 1 v AKQT9 1NN-1-100 -60  1NN1 90 40 1
+ Q6 Dif: 500 NS:3 6HN7 1010 4.0 2 + 873 Dif: 190 NS:4 3NE-1 50 30 5
& AK5 IMP: 11 EW:9 6HS6 980 3.0 4 » K8 IMP: 5 EW:1 1NN-1 100 -1.0 4
4 8532 s Q9 6HN6 980 30 1 ||a 986 & AK7 3CE4 4130 20 1
v 6432 v8 5HS7 510 -80 1 ||w 52 I v J763 2NE2 120 20 1
¢ 974 * KJT82 4SN6 480 -90 2 ||e AT5 + KQ4 28XS-1 200 40 1
& J3 » T8762 3HS6 230 -12.0 1 ||& AT963 » QJ5 1NXN-1 200 -40 1
B+ oV BN 4A6 oV ABN 4, T532 1NN-2 200 40 1
N ~~777 vAQJT9 N ~~~~~ v 84 28S-3 300 -6.0 1
S ~~777 ¢A53 S ~~n~~~ « J962 3NE3 400 8.0 1
E ~~~~~ » Q94 E 3~~~2 4742
W ~~~~~ W 3 ~~~2
#13 » K3 4HS4 620 Mean: 4HS5 650 1.0 3 ||# 14 » AKQ 4SE-150 Mean: 4SXE-1 100 30 1
v 8632 4HS4 620 620 4HS4 620 00 10 w75 4SE-150 -20  4SE-1 50 20 9
+ K83 Dif: 0 NS:0 4HN4 620 00 3 ¢ J972 Dif: 0 NS:2 4HW-1 50 20 1
& J983 IMP: 0 EW:0 3NS4 630 00 2 & 17643 IMP: 0 EW:-2 3HW-1 50 20 1
& J96 N » QT852 & T742 » J9653 3SE3 140 -3.0 1
v K974 v Q v KJ84 v A962 2SW3 140 3.0 1
¢ JT6 + ¢ 9542 + Q64 ¢ A8 2SE3 140 -3.0 1
T52 a K74 a AK a J2 1SE3 140 3.0 1
e VABN A4 oo VAN o8 3SE4 170 40 1
N 5~5~4 ¢AJTS N 21~~~ »QT3 4SE4 420 9.0 1
S 5~5~4 ¢AQ7 S 21~~~ ¢KT53
E ~~~~~ & AQ6 E ~~332 & Q9875
W ~~~~~ W ~~332
# 15 o AT 2SE-1 50 Mean: 1NW-3 150 3.0 2 ||# 16 a4 A85 2SE-1 100 Mean: 1NXW-2 500 100 1
vT5 1NW-3150 50  1NN3 150 3.0 2 v AJT9 2SW2 -110 50  3NS3 400 8.0 1
* KJ95 Dif: -100 NS:0 1NW-2 100 20 3 + 963 Dif: 210 NS:2 2SW-1 100 20 1
» A8753 IMP: -3 EW:-3 1NN2 120 2.0 1 » 873 IMP: 5 EW:4 2SE-1 100 20 1
# 753 & Q9842 1NN1 90 1.0 2 ||s QJ2 » T9763 1NN2 120 20 1
v A862 v QJ4 2SE-1 50 00 1 ||v K532 — v 84 2DN2 90 1.0 1
¢ AT + Q63 1NW-1 50 00 3 ||e QT72 * K 1NS1 90 1.0 3
& K642 a JT 3DN-1 4100 -40 1 ||a K6 » AJ542 1HN1 80 1.0 1
% ¢ VAN 4,KI6 3CN-1 100 -40 1 *eVAN o KE P 0 20 2
N 32~~2 ¢ K973 1NN-1 100 -40 1|IN ~22~2 ¢ Q76 3NN-2 100 40 1
S 33 ~~2 48742 2CN-2 200 60 1||S ~22~2 ¢ AJ854 25W2 110 40 2
E ~~~1~a&Q9 E1~~1~ &QT9 2SE2 110 40 2
W ~~~1~ W 1~~1~ 1NW1 90 4.0 1
# 17 aJ 3NS-2-100 Mean: 3CS3 110 3.0 4 ||# 18 s AT73 3HN4 170 Mean: 4HS5 650 7.0 2
v Q9 3CN3110 o 3CN3 110 3.0 3 v AQJ4 2SW-4 200 340  4HS4 620 7.0 3
¢ 9853 Dif: -210 NS:-3 1NS1 90 30 1 + Q65 Dif: -30 NS:-5 4HN4 620 7.0 2
& KJ8765 IMP: -5 EW:-3 3NS-1 50 20 1 & 87 IMP: -1 EW:4 1NE-5 250 3.0 1
» T832 & AK75 3CS-1 50 20 1 ||s QJ986 a 54 3HS5 200 40 1
v 765 v T843 3CN-1 50 20 4 ||e K83 | v T5 3HN5 200 40 1
+ AJ62 *T7 4CS-2 4100 30 1 ||e 72 * KJ43 2SW-4 200 40 2
& AT » Q92 3NS-2 100 -30 2 ||s Q95 » AT643 3HS4 170 5.0 1
® VAN 4, Q94 3NN-3 150 -40 1 ¢VAN 4 K2 3HS3 140 50 1
N 21~~1 v AKJ2 N ~45~2 ¢ 9762 3HN4 170 5.0 1
S 21~~1 ¢ K4 S ~45~4 ¢ AT9 2SW-3 150 5.0 2
E ~~~1~ 243 E ~~~~~ & KJ2 3NN-1 100 -10.0 1
W ~~~1+~ W ~ ~~~~
# 19 s Q 3NN5 460 Mean: 4NS5 460 40 2 ||# 20 4 J3 2SE2 -110 Mean: 4SE-2 200 50 1
v A654 6SS-2-100 320  4NN5 460 40 1 v A74 3HN-1-100 o0 3HS3 140 40 1
+ AQT Dif: 560 NS:4 3NS5 460 40 2 + K95 Dif: -10 NS:-3 4DW-1 100 30 2
& AQT73 IMP: 11 EW:9 3NN5 460 40 5 & AKJ72 IMP: 0 EW:3 3CN3 110 30 1
46 & KJ875 4884 420 30 1 ||aAQ # T87652 2HN2 110 30 3
v J82 v QT93 4NS4 430 30 1 ||v Q5 _I_ v KJ6 3HN-1 100 -3.0 4
¢ J9872 ¢ 65 4NN4 430 3.0 1 ||e AJT8742 * Q3 3DW3 110 3.0 2
& K942 »~ 86 3NN4 430 30 1 ||as85 » 93 2SE2 110 3.0 2
%o ¢ VAN 4AT432 6SS-2 4100 9.0 2 oV AN 4 KM 2DW3 410 3.0 1
N 5~~54 ¢K7 6NN-2 100 -90 2 |IN 3 ~2~1 ¢ T9832 4CN-2 200 -5.0 1
S 5~~54 ¢K43 S 3~2~1 ¢6
E ~~~~~ & J5 E ~3~2~ &QT64
W ~~~~~ W ~3~2~




X AY 33z >\ A —_
8 113 EXF 2 ABERFL>B 2 ==> RS 8
1 +
#1: 4 JIBH(105.47) #2: 18 [¥35(104.75) #3: 7 LLI75(104.53)
7 NS: E{&{& EE4EGEH0) 12 1 7 NS: PRIERR FEESR(BAC) -10 VP:| 16.39 : 3.61 Total VP: 104.53 Rank:
EW: B £5975R(EAC) 10 EW: fIRE sRE#(BO) -1 IMP:| 34 12 3
I
# 11 s KJT74 6HS6 980 Mean: 6NS6 990 40 6 |[# 12 s QJ4 3NE-1 50 Mean: 1NXN2 380 100 1
v K75 3HS6 230 860 6HS7 1010 4.0 1 v AKQT9 2NE2 -120 -60  1NN1 90 40 1
+ Q6 Dif: 750 NS:3  6HN7 1010 4.0 2 + 873 Dif: 170 NS:3  3NE-1 50 30 5
& AK5 IMP: 13 EW:12 6HS6 980 3.0 4 » K8 IMP: 5 EW:2 1NN-1 100 -1.0 4
4 8532 s Q9 6HN6 980 30 1 ||a 986 & AK7 3CE4 4130 20 1
v 6432 v8 5HS7 510 -80 1 ||w 52 I v J763 2NE2 120 20 1
¢ 974 * KJT82 4SN6 480 -90 2 ||e AT5 + KQ4 28XS-1 200 40 1
& J3 » T8762 3HS6 230 -12.0 1 ||& AT963 » QJ5 1NXN-1 200 -40 1
B+ oV BN 4A6 oV ABN 4, T532 1NN-2 200 40 1
N ~~777 vAQJT9 N ~~~~~ v 84 28S-3 300 -6.0 1
S ~~777 ¢A53 S ~~n~~~ « J962 3NE3 400 8.0 1
E ~~~~~ » Q94 E 3~~~2 4742
W ~~~~~ W 3 ~~~2
#13 » K3 4HN4 620 Mean: 4HS5 650 1.0 3 ||# 14 » AKQ 2SE3 -140 Mean: 4SXE-1 100 30 1
v 8632 4HS4 620 620 4HS4 620 00 10 v 75 3HW-150 -20  4SE-1 50 20 9
+ K83 Dif: 0 NS:0 4HN4 620 00 3 ¢ J972 Dif: -190 NS:-3  4HW-1 50 20 1
& J983 IMP: 0 EW:0 3NS4 630 00 2 & 17643 IMP: -5 EW:-2 3HW-1 50 20 1
& J96 N » QT852 & T742 » J9653 3SE3 140 -3.0 1
v K974 v Q v KJ84 v A962 2SW3 140 3.0 1
¢ JT6 + ¢ 9542 + Q64 ¢ A8 2SE3 140 -3.0 1
T52 a K74 a AK a J2 1SE3 140 3.0 1
e VABN A4 oo VAN o8 3SE4 170 40 1
N 5~5~4 ¢AJTS N 21~~~ »QT3 4SE4 420 9.0 1
S 5~5~4 ¢AQ7 S 21~~~ ¢KT53
E ~~~~~ & AQ6 E ~~332 & Q9875
W ~~~~~ W ~~332
# 15 o AT 1NW-1 50 Mean: 1NW-3 150 3.0 2 ||# 16 a4 A85 1NS190 Mean: 1INXW-2 500 10.0 1
vT5 3DN-1-100 50  1NN3 150 3.0 2 v AJT9 2SW-1100 50  3NS3 400 8.0 1
* KJ95 Dif: 150 NS:0 1NW-2 100 20 3 + 963 Dif: -10 NS:1  2SW-1 100 20 1
» A8753 IMP: 4 EW:4 1NN2 120 2.0 1 » 873 IMP: 0 EW:-2 2SE-1 100 20 1
# 753 & Q9842 1NN1 90 1.0 2 ||s QJ2 » T9763 1NN2 120 20 1
v A862 v QJ4 2SE-1 50 00 1 ||ew K532 — v 84 2DN2 90 1.0 1
¢ AT + Q63 1NW-1 50 00 3 ||e QT72 * K 1NS1 90 1.0 3
& K642 a JT 3DN-1 4100 -40 1 ||a K6 » AJ542 1HN1 80 1.0 1
% ¢ VAN 4,KI6 3CN-1 100 -40 1 *eVAN o KE P 0 20 2
N 32~~2 ¢ K973 1NN-1 100 -40 1|IN ~22~2 ¢ Q76 3NN-2 100 40 1
S 33 ~~2 48742 2CN-2 200 60 1||S ~22~2 ¢ AJ854 25W2 110 40 2
E ~~~1~a&Q9 E1~~1~ &QT9 2SE2 110 40 2
W ~~~1~ W 1~~1~ 1NW1 90 4.0 1
# 17 aJ 3CS3 110 Mean: 3CS3 110 3.0 4 ||# 18 s AT73 4HS5 650 Mean: 4HS5 650 7.0 2
v Q9 3CS3110 o0 3CN3 110 3.0 3 v AQJ4 4HS4 620 340 4HS4 620 7.0 3
¢ 9853 Dif: 0 NS:3 1NS1 90 30 1 + Q65 Dif: 30 NS:7 4HN4 620 7.0 2
& KJ8765 IMP: 0 EW:-3 3NS-1 50 20 1 & 87 IMP: 1 EW:-7 1NE-5 250 3.0 1
» T832 & AK75 3CS-1 50 20 1 ||s QJ986 a 54 3HS5 200 40 1
v 765 v T843 3CN-1 50 20 4 ||e K83 | v T5 3HN5 200 40 1
+ AJ62 *T7 4CS-2 4100 30 1 ||e 72 * KJ43 2SW-4 200 40 2
& AT » Q92 3NS-2 100 -30 2 ||s Q95 » AT643 3HS4 170 5.0 1
® VAN 4, Q94 3NN-3 150 -40 1 ¢VAN 4 K2 3HS3 140 50 1
N 21~~1 v AKJ2 N ~45~2 ¢ 9762 3HN4 170 5.0 1
S 21~~1 ¢ K4 S ~45~4 ¢ AT9 2SW-3 150 5.0 2
E ~~~1~ 243 E ~~~~~ & KJ2 3NN-1 100 -10.0 1
W ~~~1+~ W ~ ~~~~
# 19 s Q 3NN4 430 Mean: 4NS5 460 40 2 ||# 20 4 J3 4CN-2 -200 Mean: 4SE-2 200 50 1
v A654 6NN-2 -100 320  4NN5 460 40 1 v A74 3CN3110 © 3HS3 140 40 1
+ AQT Dif: 530 NS:3 3NS5 460 40 2 + K95 Dif: -310 NS:-5 4DW-1 100 30 2
& AQT73 IMP: 11 EW:9 3NN5 460 40 5 & AKJ72 IMP: -7 EW:-3 3CN3 110 3.0 1
46 & KJ875 4884 420 30 1 ||aAQ # T87652 2HN2 110 30 3
v J82 v QT93 4NS4 430 30 1 ||v Q5 _I_ v KJ6 3HN-1 100 -3.0 4
¢ J9872 ¢ 65 4NN4 430 3.0 1 ||e AJT8742 * Q3 3DW3 110 3.0 2
& K942 »~ 86 3NN4 430 30 1 ||as85 » 93 2SE2 110 3.0 2
%o ¢ VAN 4AT432 6SS-2 4100 9.0 2 oV AN 4 KM 2DW3 410 3.0 1
N 5~~54 ¢K7 6NN-2 100 -90 2 |IN 3 ~2~1 ¢ T9832 4CN-2 200 -5.0 1
S 5~~54 ¢K43 S 3~2~1 ¢6
E ~~~~~ & J5 E ~3~2~ &QT64
W ~~~~~ W ~3~2~




X AY 33z >\ A —_
8 113 EXF 2 ABERFL>B 2 ==> RS 8
1 +
#1: 4 JIBH(105.47) #2: 18 [¥35(104.75) #3: 7 LLI75(104.53)
8 NS: PREME SREEEHC) 1 4 NS: S51E = RZ(FH0) 3 VP:| 11.50 : 8.50 Total VP: 90.50 Rank:
EW: M=% ©£3222EH0) -3 EW: EE iET5IE(BAC) -1 IMP:| 22 : 18 6
I
# 11 s KJT74 6NS6 -990 Mean: 6NS6 990 40 6 ||# 12 » QJ4 1NXN-1 200 Mean: 1NXN2 380 100 1
v K75 6HS6 -980 860  6HS7 1010 4.0 1 v AKQT9 1NN-1 100 -60  1NN1 90 40 1
+ Q6 Dif: 10 NS:3  6HN7 1010 4.0 2 + 873 Dif: 100 NS:-1  3NE-1 50 30 5
& AK5 IMP: 0 EW:-4 6HS6 980 3.0 4 » K8 IMP: 3 EW:4 1NN-1 100 -1.0 4
4 8532 s Q9 6HN6 980 30 1 ||a 986 & AK7 3CE4 4130 20 1
v 6432 v8 5HS7 510 -80 1 ||w 52 I v J763 2NE2 120 20 1
¢ 974 * KJT82 4SN6 480 -90 2 ||e AT5 + KQ4 28XS-1 200 40 1
& J3 » T8762 3HS6 230 -12.0 1 ||& AT963 » QJ5 1NXN-1 200 -40 1
B+ oV BN 4A6 oV ABN 4, T532 1NN-2 200 40 1
N ~~777 vAQJT9 N ~~~~~ v 84 28S-3 300 -6.0 1
S ~~777 ¢A53 S ~~n~~~ « J962 3NE3 400 8.0 1
E ~~~~~ » Q94 E 3~~~2 4742
W ~~~~~ W 3 ~~~2
#13 » K3 4HS4 -620 Mean: 4HS5 650 1.0 3 ||# 14 » AKQ 4SE-1-50 Mean: 4SXE-1 100 30 1
v 8632 4HS4 -620 620  4HS4 620 00 10 v 75 4SE-1-50 -20  4SE-1 50 20 9
+ K83 Dif: 0 NS:0 4HN4 620 00 3 ¢ J972 Dif: 0 NS:2 4HW-1 50 20 1
& J983 IMP: 0 EW:0 3NS4 630 00 2 & 17643 IMP: 0 EW:-2 3HW-1 50 20 1
& J96 N » QT852 & T742 » J9653 3SE3 140 -3.0 1
v K974 v Q v KJ84 v A962 2SW3 140 3.0 1
¢ JT6 + ¢ 9542 + Q64 ¢ A8 2SE3 140 -3.0 1
T52 a K74 a AK a J2 1SE3 140 3.0 1
e VABN A4 oo VAN o8 3SE4 170 40 1
N 5~5~4 ¢AJTS N 21~~~ »QT3 4SE4 420 9.0 1
S 5~5~4 ¢AQ7 S 21~~~ ¢KT53
E ~~~~~ & AQ6 E ~~332 & Q9875
W ~~~~~ W ~~332
# 15 o AT 1NW-2 -100 Mean: 1NW-3 150 3.0 2 ||# 16 a4 A85 2DN2 -90 Mean: 1NXW-2 500 100 1
vT5 1NN3 -150 50  1NN3 150 3.0 2 v AJT9 1NS1-90 50  3NS3 400 8.0 1
* KJ95 Dif: 50 NS:3 1NW-2 100 20 3 + 963 Dif: 0 NS:1  2SwW-1 100 20 1
» A8753 IMP: 2 EW:-2 1NN2 120 2.0 1 » 873 IMP: 0 EW:-1 2SE-1 100 20 1
# 753 & Q9842 1NN1 90 1.0 2 ||s QJ2 » T9763 1NN2 120 20 1
v A862 v QJ4 2SE-1 50 00 1 ||v K532 — v 84 2DN2 90 1.0 1
¢ AT + Q63 1NW-1 50 00 3 ||e QT72 * K 1NS1 90 1.0 3
& K642 a JT 3DN-1 4100 -40 1 ||a K6 » AJ542 1HN1 80 1.0 1
% ¢ VAN 4,KI6 3CN-1 100 -40 1 *eVAN o KE P 0 20 2
N 32~~2 ¢ K973 1NN-1 100 -40 1|IN ~22~2 ¢ Q76 3NN-2 100 40 1
S 33 ~~2 48742 2CN-2 200 60 1||S ~22~2 ¢ AJ854 25W2 110 40 2
E ~~~1~a&Q9 E1~~1~ &QT9 2SE2 110 40 2
W ~~~1~ W 1~~1~ 1NW1 90 4.0 1
# 17 aJ 3CS3 -110 Mean: 3CS3 110 3.0 4 ||# 18 s AT73 4HN4 -620 Mean: 4HS5 650 7.0 2
v Q9 3NN-3150 0 3CN3 110 3.0 3 v AQJ4 3NN-1 100 340 4HS4 620 7.0 3
¢ 9853 Dif: -260 NS:-4 1NS1 90 30 1 + Q65 Dif: -720 NS:-10 4HN4 620 7.0 2
& KJ8765 IMP: -6 EW:-3 3NS-1 50 20 1 & 87 IMP: -12 EW:-7 1NE-5 250 3.0 1
» T832 & AK75 3CS-1 50 20 1 ||s QJ986 a 54 3HS5 200 40 1
v 765 v T843 3CN-1 50 20 4 ||e K83 | v T5 3HN5 200 40 1
+ AJ62 *T7 4CS-2 4100 30 1 ||e 72 * KJ43 2SW-4 200 40 2
& AT » Q92 3NS-2 100 -30 2 ||s Q95 » AT643 3HS4 170 5.0 1
® VAN 4, Q94 3NN-3 150 -40 1 ¢VAN 4 K2 3HS3 140 50 1
N 21~~1 v AKJ2 N ~45~2 ¢ 9762 3HN4 170 5.0 1
S 21~~1 ¢ K4 S ~45~4 ¢ AT9 2SW-3 150 5.0 2
E ~~~1~ 243 E ~~~~~ & KJ2 3NN-1 100 -10.0 1
W ~~~1+~ W ~ ~~~~
# 19 s Q 6SS-2 100 Mean: 4NS5 460 40 2 ||# 20 4 J3 2DW3 110 Mean: 4SE-2 200 50 1
v A654 3NS5-460 320 4NN5 460 40 1 v A74 2HN2-110 0 3HS3 140 40 1
+ AQT Dif: 560 NS:4 3NS5 460 40 2 + K95 Dif: 220 NS:3 4DW-1 100 30 2
& AQT73 IMP: 11 EW:9 3NN5 460 40 5 & AKJ72 IMP: 6 EW:3 3CN3 110 30 1
46 & KJ875 4884 420 30 1 ||aAQ # T87652 2HN2 110 30 3
v J82 v QT93 4NS4 430 30 1 ||v Q5 _I_ v KJ6 3HN-1 100 -3.0 4
¢ J9872 ¢ 65 4NN4 430 3.0 1 ||e AJT8742 * Q3 3DW3 110 3.0 2
& K942 »~ 86 3NN4 430 30 1 ||as85 » 93 2SE2 110 3.0 2
%o ¢ VAN 4AT432 6SS-2 4100 9.0 2 oV AN 4 KM 2DW3 410 3.0 1
N 5~~54 ¢K7 6NN-2 100 -90 2 |IN 3 ~2~1 ¢ T9832 4CN-2 200 -5.0 1
S 5~~54 ¢K43 S 3~2~1 ¢6
E ~~~~~ & J5 E ~3~2~ &QT64
W ~~~~~ W ~3~2~




X AY 33z >\ A —_
8 113 EXF 2 ABERFL>B 2 ==> RS 8
1 +
#1: 4 JIBH(105.47) #2: 18 [¥35(104.75) #3: 7 LLI75(104.53)
9 NS: BE5F B BB #R®GH0) -7 1 2 NS: Bk = EABNBE(BAC) 3 VP:| 6.00 14.00 | Total VP: 71.13 Rank:
EW: I35 B EAC) -3 EW: EEX % 5&IF(BIO) 7 IMP:| 14 26 13
I
# 11 s KJT74 4SN6 480 Mean: 6NS6 990 40 6 |[# 12 s QJ4 2SS-3 -300 Mean: 1NXN2 380 100 1
v K75 6NS6 990 860  6HS7 1010 4.0 1 v AKQT9 2SXS-1-200 -60  1NN1 90 40 1
+ Q6 Dif: -510 NS:-9 6HN7 1010 4.0 2 + 873 Dif: -100 NS:-6 3NE-1 50 30 5
& AK5 IMP: -11 EW:-4 6HS6 980 3.0 4 » K8 IMP: -3 EW:4 1NN-1 100 -1.0 4
4 8532 s Q9 6HN6 980 30 1 ||a 986 & AK7 3CE4 4130 20 1
v 6432 v8 5HS7 510 -80 1 ||w 52 I v J763 2NE2 120 20 1
¢ 974 * KJT82 4SN6 480 -90 2 ||e AT5 + KQ4 28XS-1 200 40 1
& J3 » T8762 3HS6 230 -12.0 1 ||& AT963 » QJ5 1NXN-1 200 -40 1
B+ oV BN 4A6 oV ABN 4, T532 1NN-2 200 40 1
N ~~777 vAQJT9 N ~~~~~ v 84 28S-3 300 -6.0 1
S ~~777 ¢A53 S ~~n~~~ « J962 3NE3 400 8.0 1
E ~~~~~ & Q94 E 3~~~2 #1742
W ~~~~~ W 3 ~~~2
#13 » K3 4HN4 620 Mean: 4HS5 650 1.0 3 ||# 14 » AKQ 3SE3 -140 Mean: 4SXE-1 100 30 1
v 8632 4HS5 650 620  4HS4 620 00 10 v 75 3SE4 -170 -20  4SE-1 50 20 9
+ K83 Dif: -30 NS:0 4HN4 620 00 3 ¢ J972 Dif: 30 NS:-3 4HW-1 50 20 1
& J983 IMP: -1 EW:-1 3NS4 630 00 2 & 17643 IMP: 1 EW:4 3HW-1 50 20 1
& J96 N » QT852 & T742 » J9653 3SE3 140 -3.0 1
v K974 v Q v KJ84 v A962 2SW3 140 3.0 1
¢ JT6 + ¢ 9542 + Q64 ¢ A8 2SE3 140 -3.0 1
T52 a K74 a AK a J2 1SE3 140 3.0 1
e VABN A4 oo VAN o8 3SE4 170 40 1
N 5~5~4 ¢AJTS N 21~~~ »QT3 4SE4 420 9.0 1
S 5~5~4 ¢AQ7 S 21~~~ ¢KT53
E ~~~~~ & AQ6 E ~~332 & Q9875
W ~~~~~ W ~~332
# 15 o AT 1NW-2 100 Mean: 1NW-3 150 3.0 2 ||# 16 a4 A85 PO Mean: 1INXW-2 500 10.0 1
vT5 1NN3 150 50  1NN3 150 3.0 2 v AJT9 3NS3400 50  3NS3 400 8.0 1
* KJ95 Dif: -50 NS:2 1NW-2 100 20 3 + 963 Dif: -400 NS:-2 2SW-1 100 20 1
» A8753 IMP: -2 EW:-3 1NN2 120 2.0 1 » 873 IMP: -9 EW:-8 2SE-1 100 20 1
# 753 & Q9842 1NN1 90 1.0 2 ||s QJ2 » T9763 1NN2 120 20 1
v A862 v QJ4 2SE-1 50 00 1 ||v K532 — v 84 2DN2 90 1.0 1
¢ AT + Q63 1NW-1 50 00 3 ||e QT72 * K 1NS1 90 1.0 3
& K642 a JT 3DN-1 4100 -40 1 ||a K6 » AJ542 1HN1 80 1.0 1
% ¢ VAN 4,KI6 3CN-1 100 -40 1 *eVAN o KE P 0 20 2
N 32~~2 ¢ K973 1NN-1 100 -40 1|IN ~22~2 ¢ Q76 3NN-2 100 40 1
S 33 ~~2 48742 2CN-2 200 60 1||S ~22~2 ¢ AJ854 25W2 110 40 2
E ~~~1~a&Q9 E1~~1~ &QT9 2SE2 110 40 2
W ~~~1~ W 1~~1~ 1NW1 90 4.0 1
# 17 aJ 3CS3 110 Mean: 3CS3 110 3.0 4 ||# 18 s AT73 4HS4 620 Mean: 4HS5 650 7.0 2
v Q9 3NS-1-50 0 3CN3 110 3.0 3 v AQJ4 3HS5200 340 4HS4 620 7.0 3
¢ 9853 Dif: 160 NS:3 1NS1 90 30 1 + Q65 Dif: 420 NS:7 4HN4 620 7.0 2
& KJ8765 IMP: 4 EW:2 3NS-1 50 20 1 & 87 IMP: 9 EW:4 1NE-5 250 3.0 1
» T832 & AK75 3CS-1 50 20 1 ||s QJ986 a 54 3HS5 200 40 1
v 765 v T843 3CN-1 50 20 4 ||e K83 | v T5 3HN5 200 40 1
+ AJ62 . T7 4CS-2 4100 30 1 ||e 72 * KJ43 2SW-4 200 40 2
& AT » Q92 3NS-2 100 -30 2 ||s Q95 » AT643 3HS4 170 5.0 1
® VAN 4, Q94 3NN-3 150 -40 1 ¢VAN 2 K2 3HS3 140 50 1
N 21~~1 v AKJ2 N ~45~2 ¢ 9762 3HN4 170 5.0 1
S 21~~1 ¢ K4 S ~45~4 ¢ AT9 2SW-3 150 5.0 2
E ~~~1~ 243 E ~~~~~ & KJ2 3NN-1 100 -10.0 1
W ~~~1+~ W ~ ~~~~
# 19 s Q 3NN5 460 Mean: 4NS5 460 40 2 ||# 20 4 J3 3DW3 -110 Mean: 4SE-2 200 50 1
v A654 4NS5460 320 4NN5 460 40 1 v A74 3HN-1-100 o0 3HS3 140 40 1
+ AQT Dif: 0 NS:4 3NS5 460 40 2 + K95 Dif: -10 NS:-3 4DW-1 100 30 2
& AQT73 IMP: 0 EW:-4 3NN5 460 40 5 & AKJ72 IMP: 0 EW:3 3CN3 110 3.0 1
46 & KJ875 4884 420 30 1 ||aAQ # T87652 2HN2 110 30 3
v J82 v QT93 4NS4 430 30 1 ||v Q5 _I_ v KJ6 3HN-1 100 -3.0 4
¢ J9872 ¢ 65 4NN4 430 3.0 1 ||e AJT8742 * Q3 3DW3 110 3.0 2
& K942 »~ 86 3NN4 430 30 1 ||as85 » 93 2SE2 110 3.0 2
%o ¢ VAN 4AT432 6SS-2 4100 9.0 2 oV AN 4 KM 2DW3 410 3.0 1
N 5~~54 ¢K7 6NN-2 100 -90 2 |IN 3 ~2~1 ¢ T9832 4CN-2 200 -5.0 1
S 5~~54 ¢K43 S 3~2~1 ¢6
E ~~~~~ & J5 E ~3~2~ &QT64
W ~~~~~ W ~3~2~




X AY 33z >\ A —_
8 113 EXF 2 ABERFL>B 2 ==> RS 8
1 +
#1: 4 JIBH(105.47) #2: 18 [¥35(104.75) #3: 7 LLI75(104.53)
1 O NS: $3¥K ZZEREIRGBHO) -1 1 6 NS: REIE €% 5(BAC) 2 VP:| 9.23 10.77| Total VP: 69.85 Rank:
EW: 13{EE FEEEEAC) -2 EW: BR3%# BRYE(FEO) 1 IMP:| 21 23 14
I
# 11 s KJT74 6HS6 980 Mean: 6NS6 990 40 6 |[# 12 s QJ4 3NE-1 50 Mean: 1NXN2 380 100 1
v K75 6HS7 1010 860  6HS7 1010 4.0 1 v AKQT9 3NE3 -400 -60  1NN1 90 40 1
+ Q6 Dif: -30 NS:3  6HN7 1010 4.0 2 + 873 Dif: 450 NS:3 3NE-1 50 30 5
& AK5 IMP: -1 EW:-4 6HS6 980 3.0 4 » K8 IMP: 10 EW:8 1NN-1 100 -1.0 4
4 8532 s Q9 6HN6 980 30 1 ||a 986 & AK7 3CE4 4130 20 1
v 6432 v8 5HS7 510 -80 1 ||w 52 I v J763 2NE2 120 20 1
¢ 974 * KJT82 4SN6 480 -90 2 ||e AT5 + KQ4 28XS-1 200 40 1
& J3 » T8762 3HS6 230 -12.0 1 ||& AT963 » QJ5 1NXN-1 200 -40 1
B+ oV BN 4A6 oV ABN 4, T532 1NN-2 200 40 1
N ~~777 vAQJT9 N ~~~~~ v 84 28S-3 300 -6.0 1
S ~~777 ¢A53 S ~~n~~~ « J962 3NE3 400 8.0 1
E ~~~~~ & Q94 E 3~~~2 #1742
W ~~~~~ W 3 ~~~2
#13 » K3 4HS4 620 Mean: 4HS5 650 1.0 3 ||# 14 » AKQ 4SE-150 Mean: 4SXE-1 100 30 1
v 8632 4HS4 620 620 4HS4 620 00 10 w75 4SE4 -420 -20  4SE-1 50 20 9
+ K83 Dif: 0 NS:0 4HN4 620 00 3 ¢ J972 Dif: 470 NS:2 4HW-1 50 20 1
& J983 IMP: 0 EW:0 3NS4 630 00 2 & 17643 IMP: 10 EW:9 3HW-1 50 20 1
& J96 N » QT852 & T742 » J9653 3SE3 140 -3.0 1
v K974 v Q v KJ84 v A962 2SW3 140 3.0 1
¢ JT6 + ¢ 9542 + Q64 ¢ A8 2SE3 140 -3.0 1
T52 a K74 a AK a J2 1SE3 140 3.0 1
e VABN A4 oo VAN o8 3SE4 170 40 1
N 5~5~4 ¢AJTS N 21~~~ »QT3 4SE4 420 9.0 1
S 5~5~4 ¢AQ7 S 21~~~ ¢KT53
E ~~~~~ & AQ6 E ~~332 & Q9875
W ~~~~~ W ~~332
# 15 o AT 1NN-1 -100 Mean: 1NW-3 150 3.0 2 ||# 16 a4 A85 2SE2 -110 Mean: 1NXW-2 500 100 1
vT5 1NW-150 50  1NN3 150 3.0 2 v AJT9 PO 50  3NS3 400 8.0 1
* KJ95 Dif: -150 NS:-4 1NW-2 100 20 3 + 963 Dif: 110 NS:-4 2SW-1 100 20 1
» A8753 IMP: -4 EW:0 1NN2 120 2.0 1 » 873 IMP: -3 EW:2 2SE-1 100 20 1
# 753 & Q9842 1NN1 90 1.0 2 ||s QJ2 » T9763 1NN2 120 20 1
v A862 v QJ4 2SE-1 50 00 1 ||v K532 — v 84 2DN2 90 1.0 1
¢ AT + Q63 1NW-1 50 00 3 ||e QT72 * K 1NS1 90 1.0 3
& K642 a JT 3DN-1 4100 -40 1 ||a K6 » AJ542 1HN1 80 1.0 1
% ¢ VAN 4,KI6 3CN-1 100 -40 1 *eVAN o KE P 0 20 2
N 32~~2 ¢ K973 1NN-1 100 -40 1|IN ~22~2 ¢ Q76 3NN-2 100 40 1
S 33 ~~2 48742 2CN-2 200 60 1||S ~22~2 ¢ AJ854 25W2 110 40 2
E ~~~1~a&Q9 E1~~1~ &QT9 2SE2 110 40 2
W ~~~1~ W 1~~1~ 1NW1 90 4.0 1
# 17 aJ 3CN3 110 Mean: 3CS3 110 3.0 4 ||# 18 s AT73 2SW-4 200 Mean: 4HS5 650 7.0 2
v Q9 1INS190 o0 3CN3 110 3.0 3 v AQJ4 4HS4 620 340 4HS4 620 7.0 3
¢ 9853 Dif: 20 NS:3 1NS1 90 30 1 + Q65 Dif: -420 NS:-4 4HN4 620 7.0 2
& KJ8765 IMP: 1 EW:-3 3NS-1 50 20 1 & 87 IMP: -9 EW:-7 1NE-5 250 3.0 1
» T832 & AK75 3CS-1 50 20 1 ||s QJ986 a 54 3HS5 200 40 1
v 765 v T843 3CN-1 50 20 4 ||e K83 | v T5 3HN5 200 40 1
+ AJ62 . T7 4CS-2 4100 30 1 ||e 72 * KJ43 2SW-4 200 40 2
& AT » Q92 3NS-2 100 -30 2 ||s Q95 » AT643 3HS4 170 5.0 1
® VAN 4, Q94 3NN-3 150 -40 1 ¢VAN 4 K2 3HS3 140 50 1
N 21~~1 v AKJ2 N ~45~2 ¢ 9762 3HN4 170 5.0 1
S 21~~1 ¢ K4 S ~45~4 ¢ AT9 2SW-3 150 5.0 2
E ~~~1~ 243 E ~~~~~ & KJ2 3NN-1 100 -10.0 1
W ~~~1+~ W ~ ~~~~
# 19 s Q 4NS4 430 Mean: 4NS5 460 40 2 ||# 20 4 J3 3DW3 -110 Mean: 4SE-2 200 50 1
v A654 3NS5460 320 4NN5 460 40 1 v A74 4DW-1100 O 3HS3 140 40 1
+ AQT Dif: -30 NS:3 3NS5 460 40 2 + K95 Dif: -210 NS:-3  4DW-1 100 30 2
& AQT73 IMP: -1 EW:-4 3NN5 460 40 5 & AKJ72 IMP: -5 EW:-3 3CN3 110 3.0 1
46 & KJ875 4884 420 30 1 ||aAQ # T87652 2HN2 110 30 3
v J82 v QT93 4NS4 430 30 1 ||v Q5 _I_ v KJ6 3HN-1 100 -3.0 4
¢ J9872 ¢ 65 4NN4 430 3.0 1 ||e AJT8742 * Q3 3DW3 110 3.0 2
& K942 »~ 86 3NN4 430 30 1 ||as85 » 93 2SE2 110 3.0 2
%o ¢ VAN 4AT432 6SS-2 4100 9.0 2 oV AN 4 KM 2DW3 410 3.0 1
N 5~~54 ¢K7 6NN-2 100 -90 2 |IN 3 ~2~1 ¢ T9832 4CN-2 200 -5.0 1
S 5~~54 ¢K43 S 3~2~1 ¢6
E ~~~~~ & J5 E ~3~2~ &QT64
W ~~~~~ W ~3~2~




X AY 33z >\ A —_
8 132 FEZ 2RABERFLB 2 ==> RS 8
1 +
#1: 4 JIBH(105.47) #2: 18 [¥35(104.75) #3: 7 LLI75(104.53)
1 1 NS: Zig#E EREEC) 18 1 NS: #t5RiE Si5E(F0) 4 VP:| 14.80 : 5.20 | Total VP: 88.75 Rank:
EW: 8538 HMERIEI0) -4 EW: %58 E&FE(BAC) 1 IMP:| 24 9 7
I
# 11 s KJT74 6NS6 -990 Mean: 6NS6 990 40 6 |[# 12 s QJ4 3NE-1-50 Mean: 1NXN2 380 100 1
v K75 6HN7 -1010 860  6HS7 1010 4.0 1 v AKQT9 1NN-2200 -60  1NN1 90 40 1
+ Q6 Dif: 20 NS:4  6HN7 1010 4.0 2 + 873 Dif: -250 NS:-4 3NE-1 50 30 5
& AK5 IMP: 1 EW:-4 6HS6 980 3.0 4 » K8 IMP: -6 EW:-3 1NN-1 100 -1.0 4
4 8532 s Q9 6HN6 980 30 1 ||a 986 & AK7 3CE4 4130 20 1
v 6432 v8 5HS7 510 -80 1 ||w 52 I v J763 2NE2 120 20 1
¢ 974 * KJT82 4SN6 480 -90 2 ||e AT5 + KQ4 28XS-1 200 40 1
& J3 » T8762 3HS6 230 -12.0 1 ||& AT963 » QJ5 1NXN-1 200 -40 1
B+ oV BN 4A6 oV ABN 4, T532 1NN-2 200 40 1
N ~~777 vAQJT9 N ~~~~~ v 84 28S-3 300 -6.0 1
S ~~777 ¢A53 S ~~n~~~ « J962 3NE3 400 8.0 1
E ~~~~~ » Q94 E 3~~~2 4742
W ~~~~~ W 3 ~~~2
#13 » K3 4HS4 -620 Mean: 4HS5 650 1.0 3 ||# 14 » AKQ 4SE-1 -50 Mean: 4SXE-1 100 30 1
v 8632 4HS5 -650 620  4HS4 620 00 10 v 75 4SXE-1-100 -20  4SE-1 50 20 9
+ K83 Dif: 30 NS:1  4HN4 620 00 3 ¢ J972 Dif: 50 NS:3  4HW-1 50 20 1
& J983 IMP: 1 EW:0 3NS4 630 00 2 & 17643 IMP: 2 EW:-2 3HW-1 50 20 1
& J96 N » QT852 & T742 » J9653 3SE3 140 -3.0 1
v K974 v Q v KJ84 v A962 2SW3 140 3.0 1
¢ JT6 + ¢ 9542 + Q64 ¢ A8 2SE3 140 -3.0 1
T52 a K74 a AK a J2 1SE3 140 3.0 1
e VABN A4 oo VAN o8 3SE4 170 40 1
N 5~5~4 ¢AJTS N 21~~~ »QT3 4SE4 420 9.0 1
S 5~5~4 ¢AQ7 S 21~~~ ¢KT53
E ~~~~~ & AQ6 E ~~332 & Q9875
W ~~~~~ W ~~332
# 15 o AT 2CN-2 200 Mean: 1NW-3 150 3.0 2 ||# 16 a4 A85 1HN1 -80 Mean: 1NXW-2 500 10.0 1
vT5 1NN2-120 50  1NN3 150 3.0 2 v AJT9 1NN2-120 50  3NS3 400 8.0 1
* KJ95 Dif: 320 NS:2 1NW-2 100 20 3 + 963 Dif: 40 NS:2 2SW-1 100 20 1
» A8753 IMP: 8 EW:6 1NN2 120 2.0 1 » 873 IMP: 1 EW:-1  2SE-1 100 20 1
# 753 & Q9842 1NN1 90 1.0 2 ||s QJ2 » T9763 1NN2 120 20 1
v A862 v QJ4 2SE-1 50 00 1 ||ew K532 — v 84 2DN2 90 1.0 1
¢ AT + Q63 1NW-1 50 00 3 ||e QT72 * K 1NS1 90 1.0 3
& K642 » JT 3DN-1 4100 -40 1 ||a K6 » AJ542 1HN1 80 1.0 1
% ¢ VAN 4,KI6 3CN-1 100 -40 1 FOVAN 4 KI P 0 20 2
N 32~~2 ¢ K973 1NN-1 100 -40 1|IN ~22~2 ¢ Q76 3NN-2 100 40 1
S 33 ~~2 48742 2CN-2 200 60 1||S ~22~2 ¢ AJ854 25W2 110 40 2
E ~~~1~a&Q9 E1~~1~ &QT9 2SE2 110 40 2
W ~~~1~ W 1~~1~ 1NW1 90 4.0 1
# 17 aJ 3CS-150 Mean: 3CS3 110 3.0 4 ||# 18 s AT73 3HS3 -140 Mean: 4HS5 650 7.0 2
v Q9 3NS-2100 o0 3CN3 110 3.0 3 v AQJ4 4HS5 -650 340  4HS4 620 7.0 3
¢ 9853 Dif: -50 NS:-3 1NS1 90 30 1 + Q65 Dif: 510 NS:7 4HN4 620 7.0 2
& KJ8765 IMP: -2 EW:2 3NS-1 50 20 1 & 87 IMP: 11 EW:5 1NE-5 250 3.0 1
» T832 & AK75 3CS-1 50 20 1 ||s QJ986 a 54 3HS5 200 40 1
v 765 v T843 3CN-1 50 20 4 ||e K83 | v T5 3HN5 200 40 1
+ AJ62 . T7 4CS-2 4100 30 1 ||e 72 * KJ43 2SW-4 200 40 2
& AT » Q92 3NS-2 100 -30 2 ||s Q95 » AT643 3HS4 170 5.0 1
® VAN 4, Q94 3NN-3 150 -40 1 ¢VAN 2 K2 3HS3 140 50 1
N 21~~1 v AKJ2 N ~45~2 ¢ 9762 3HN4 170 5.0 1
S 21~~1 ¢ K4 S ~45~4 ¢ AT9 2SW-3 150 5.0 2
E ~~~1~ 243 E ~~~~~ & KJ2 3NN-1 100 -10.0 1
W ~~~1+~ W ~ ~~~~
# 19 s Q 3NN5 -460 Mean: 4NS5 460 40 2 ||# 20 4 J3 2HN2 -110 Mean: 4SE-2 200 50 1
v A654 4SS4 -420 320 4NN5 460 40 1 v A74 2HN2-110 0 3HS3 140 40 1
+ AQT Dif: -40 NS:3 3NS5 460 40 2 + K95 Dif: 0 NS:3 4DW-1 100 30 2
& AQT73 IMP: -1 EW:-4 3NN5 460 40 5 & AKJ72 IMP: 0 EW:-3 3CN3 110 3.0 1
46 & KJ875 4884 420 30 1 ||aAQ # T87652 2HN2 110 30 3
v J82 v QT93 4NS4 430 30 1 ||v Q5 _I_ v KJ6 3HN-1 100 -3.0 4
¢ J9872 ¢ 65 4NN4 430 3.0 1 ||e AJT8742 * Q3 3DW3 110 3.0 2
& K942 » 86 3NN4 430 30 1 ||as85 » 93 2SE2 110 3.0 2
%o ¢ VAN 4AT432 6SS-2 4100 9.0 2 oV AN 4 KM 2DW3 410 3.0 1
N 5~~54 ¢K7 6NN-2 4100 -90 2 |IN 3 ~2~1 ¢ T9832 4CN-2 200 -5.0 1
S 5~~54 ¢K43 S 3~2~1 ¢6
E ~~~~~ & J5 E ~3~2~ &QT64
W ~~~~~ W ~3~2~




X AY 33z >\ A —_
8 132 FEZ 2RABERFLB 2 ==> RS 8
1 +
#1: 4 JIBH(105.47) #2: 18 [¥35(104.75) #3: 7 LLI75(104.53)
1 2 NS: ¥igkz BEEIEEAC) 3 9 NS: R<FR 58 /(B80) -7 VP:| 14.00 : 6.00 | Total VP: 62.97 Rank:
EW: EEH BREBEIO) 7 EW: &Iiil55 BRiEEsR(BAC) -3 IMP:| 26 14 15
I
# 11 s KJT74 4SN6 -480 Mean: 6NS6 990 40 6 |[# 12 s QJ4 2SS-3 300 Mean: 1NXN2 380 100 1
v K75 6NS6 -990 860  6HS7 1010 4.0 1 v AKQT9 2SXS-1200 -60  1NN1 90 40 1
+ Q6 Dif: 510 NS:4  6HN7 1010 4.0 2 + 873 Dif: 100 NS:-4 3NE-1 50 30 5
& AK5 IMP: 11 EW:9 6HS6 980 3.0 4 » K8 IMP: 3 EW:6 1NN-1 100 -1.0 4
4 8532 s Q9 6HN6 980 30 1 ||a 986 & AK7 3CE4 4130 20 1
v 6432 v8 5HS7 510 -80 1 ||w 52 I v J763 2NE2 120 20 1
¢ 974 * KJT82 4SN6 480 -90 2 ||e AT5 + KQ4 28XS-1 200 40 1
& J3 » T8762 3HS6 230 -12.0 1 ||& AT963 » QJ5 1NXN-1 200 -40 1
B+ oV BN 4A6 oV ABN 4, T532 1NN-2 200 40 1
N ~~777 vAQJT9 N ~~~~~ v 84 28S-3 300 -6.0 1
S ~~777 ¢A53 S ~~n~~~ « J962 3NE3 400 8.0 1
E ~~~~~ & Q94 E 3~~~2 #1742
W ~~~~~ W 3 ~~~2
#13 » K3 4HN4 -620 Mean: 4HS5 650 1.0 3 ||# 14 » AKQ 3SE3 140 Mean: 4SXE-1 100 30 1
v 8632 4HS5 -650 620  4HS4 620 00 10 w75 3SE4170 -20  4SE-1 50 20 9
+ K83 Dif: 30 NS:1  4HN4 620 00 3 ¢ J972 Dif: -30 NS:-4 4HW-1 50 20 1
& J983 IMP: 1 EW:0 3NS4 630 00 2 & 17643 IMP: -1 EW:3  3HW-1 50 20 1
& J96 N » QT852 & T742 » J9653 3SE3 140 -3.0 1
v K974 v Q v KJ84 v A962 2SW3 140 3.0 1
¢ JT6 + ¢ 9542 + Q64 ¢ A8 2SE3 140 -3.0 1
T52 a K74 a AK a J2 1SE3 140 3.0 1
e VABN A4 oo VAN o8 3SE4 170 40 1
N 5~5~4 ¢AJTS N 21~~~ »QT3 4SE4 420 9.0 1
S 5~5~4 ¢AQ7 S 21~~~ ¢KT53
E ~~~~~ & AQ6 E ~~332 & Q9875
W ~~~~~ W ~~332
# 15 o AT 1NW-2 -100 Mean: 1NW-3 150 3.0 2 ||# 16 a4 A85 PO Mean: 1INXW-2 500 10.0 1
vT5 1NN3 -150 50  1NN3 150 3.0 2 v AJT9 3NS3-400 50  3NS3 400 8.0 1
* KJ95 Dif: 50 NS:3 1NW-2 100 20 3 + 963 Dif: 400 NS:8 2SW-1 100 20 1
» A8753 IMP: 2 EW:-2 1NN2 120 2.0 1 » 873 IMP: 9 EW:2 2SE-1 100 20 1
# 753 & Q9842 1NN1 90 1.0 2 ||s QJ2 » T9763 1NN2 120 20 1
v A862 v QJ4 2SE-1 50 00 1 ||v K532 — v 84 2DN2 90 1.0 1
¢ AT + Q63 1NW-1 50 00 3 ||e QT72 * K 1NS1 90 1.0 3
& K642 » JT 3DN-1 4100 -40 1 ||a K6 » AJ542 1HN1 80 1.0 1
% ¢ VAN 4,KI6 3CN-1 100 -40 1 FOVAN 4 KI P 0 20 2
N 32~~2 ¢ K973 1NN-1 100 -40 1|IN ~22~2 ¢ Q76 3NN-2 100 40 1
S 33 ~~2 48742 2CN-2 200 60 1||S ~22~2 ¢ AJ854 2sW2 110 40 2
E ~~~1~a&Q9 E1~~1~ &QT9 2SE2 110 40 2
W ~~~1~ W 1~~1~ 1NW1 90 4.0 1
# 17 aJ 3CS3 -110 Mean: 3CS3 110 3.0 4 ||# 18 s AT73 4HS4 -620 Mean: 4HS5 650 7.0 2
v Q9 3NS-150 0 3CN3 110 3.0 3 v AQJ4 3HS5-200 340 4HS4 620 7.0 3
¢ 9853 Dif: -160 NS:-2 1NS1 90 30 1 + Q65 Dif: -420 NS:-4 4HN4 620 7.0 2
& KJ8765 IMP: -4 EW:-3 3NS-1 50 20 1 & 87 IMP: -9 EW:-7 1NE-5 250 3.0 1
» T832 & AK75 3CS-1 50 20 1 ||s QJ986 a 54 3HS5 200 40 1
v 765 v T843 3CN-1 50 20 4 ||e K83 | v T5 3HN5 200 40 1
+ AJ62 . T7 4CS-2 4100 30 1 ||e 72 * KJ43 2SW-4 200 40 2
& AT » Q92 3NS-2 100 -30 2 ||s Q95 » AT643 3HS4 170 5.0 1
® VAN 4, Q94 3NN-3 150 -40 1 ¢VAN 2 K2 3HS3 140 50 1
N 21~~1 v AKJ2 N ~45~2 ¢ 9762 3HN4 170 5.0 1
S 21~~1 ¢ K4 S ~45~4 ¢ AT9 2SW-3 150 5.0 2
E ~~~1~ 243 E ~~~~~ & KJ2 3NN-1 100 -10.0 1
W ~~~1+~ W ~ ~~~~
# 19 s Q 3NN5 -460 Mean: 4NS5 460 40 2 ||# 20 4 J3 3DW3 110 Mean: 4SE-2 200 50 1
v A654 4NS5 -460 320  4NN5 460 40 1 v A74 3HN-1100 o0 3HS3 140 40 1
+ AQT Dif: 0 NS:4 3NS5 460 40 2 + K95 Dif: 10 NS:-3 4DW-1 100 30 2
& AQT73 IMP: 0 EW:-4 3NN5 460 40 5 & AKJ72 IMP: 0 EW:3 3CN3 110 3.0 1
46 & KJ875 4884 420 30 1 ||aAQ # T87652 2HN2 110 30 3
v J82 v QT93 4NS4 430 30 1 ||v Q5 _I_ v KJ6 3HN-1 100 -3.0 4
¢ J9872 ¢ 65 4NN4 430 3.0 1 ||e AJT8742 * Q3 3DW3 110 3.0 2
& K942 »~ 86 3NN4 430 30 1 ||as85 » 93 2SE2 110 3.0 2
%o ¢ VAN 4AT432 6SS-2 4100 9.0 2 oV AN 4 KM 2DW3 410 3.0 1
N 5~~54 ¢K7 6NN-2 100 -90 2 |IN 3 ~2~1 ¢ T9832 4CN-2 200 -5.0 1
S 5~~54 ¢K43 S 3~2~1 ¢6
E ~~~~~ & J5 E ~3~2~ &QT64
W ~~~~~ W ~3~2~




X AY 33z >\ A —_
8 113 EXF 2 ABERFL>B 2 ==> RS 8
1 +
#1: 4 JIBH(105.47) #2: 18 [¥35(104.75) #3: 7 LLI75(104.53)
1 3 NS: #F{— 5 EffEEAC) -22 6 NS: 21212 27 (F0) 4 VP:| 3.41 16.59| Total VP: 51.84 Rank:
EW: BEEE HEEEGIO) 4 EW: SRR MEE(EIC) 22 IMP:| 9 32 17
I
# 11 s KJT74 6HNG6 -980 Mean: 6NS6 990 40 6 |[# 12 s QJ4 1NN1 -90 Mean: 1NXN2 380 100 1
v K75 4SN6 -480 860  6HS7 1010 4.0 1 v AKQT9 1NN-1 100 -60  1NN1 90 40 1
+ Q6 Dif: -500 NS:-9 6HN7 1010 4.0 2 + 873 Dif: -190 NS:-1 3NE-1 50 30 5
& AK5 IMP: -11 EW:-3 6HS6 980 3.0 4 » K8 IMP: -5 EW:-4 1NN-1 100 -1.0 4
4 8532 s Q9 6HN6 980 30 1 ||a 986 & AK7 3CE4 4130 20 1
v 6432 v8 5HS7 510 -80 1 ||w 52 I v J763 2NE2 120 20 1
¢ 974 * KJT82 4SN6 480 -90 2 ||e AT5 + KQ4 28XS-1 200 40 1
& J3 » T8762 3HS6 230 -12.0 1 ||& AT963 » QJ5 1NXN-1 200 -40 1
B+ oV BN 4A6 oV ABN 4, T532 1NN-2 200 40 1
N ~~777 vAQJT9 N ~~~~~ v 84 28S-3 300 -6.0 1
S ~~777 ¢A53 S ~~n~~~ « J962 3NE3 400 8.0 1
E ~~~~~ » Q94 E 3~~~2 4742
W ~~~~~ W 3 ~~~2
#13 » K3 4HS4 -620 Mean: 4HS5 650 1.0 3 ||# 14 » AKQ 4SE-1-50 Mean: 4SXE-1 100 30 1
v 8632 4HS4 -620 620  4HS4 620 00 10 v 75 4SE-1-50 -20  4SE-1 50 20 9
+ K83 Dif: 0 NS:0 4HN4 620 00 3 ¢ J972 Dif: 0 NS:2 4HW-1 50 20 1
& J983 IMP: 0 EW:0 3NS4 630 00 2 & 17643 IMP: 0 EW:-2 3HW-1 50 20 1
& J96 N » QT852 & T742 » J9653 3SE3 140 -3.0 1
v K974 v Q v KJ84 v A962 2SW3 140 3.0 1
¢ JT6 + ¢ 9542 + Q64 ¢ A8 2SE3 140 -3.0 1
T52 a K74 a AK a J2 1SE3 140 3.0 1
e VABN A4 oo VAN o8 3SE4 170 40 1
N 5~5~4 ¢AJTS N 21~~~ »QT3 4SE4 420 9.0 1
S 5~5~4 ¢AQ7 S 21~~~ ¢KT53
E ~~~~~ & AQ6 E ~~332 & Q9875
W ~~~~~ W ~~332
# 15 o AT 2SE-1-50 Mean: 1NW-3 150 3.0 2 ||# 16 a4 A85 2SE-1-100 Mean: 1NXW-2 500 10.0 1
vT5 1NW-3 -150 50  1NN3 150 3.0 2 v AJT9 2SW2110 50  3NS3 400 8.0 1
* KJ95 Dif: 100 NS:3 1NW-2 100 20 3 + 963 Dif: -210 NS:-4 2SW-1 100 20 1
» A8753 IMP: 3 EW:0 1NN2 120 2.0 1 » 873 IMP: -5 EW:-2 2SE-1 100 20 1
# 753 & Q9842 1NN1 90 1.0 2 ||s QJ2 » T9763 1NN2 120 20 1
v A862 v QJ4 2SE-1 50 00 1 ||v K532 — v 84 2DN2 90 1.0 1
¢ AT + Q63 1NW-1 50 00 3 ||e QT72 * K 1NS1 90 1.0 3
& K642 a JT 3DN-1 4100 -40 1 ||a K6 » AJ542 1HN1 80 1.0 1
% ¢ VAN 4,KI6 3CN-1 100 -40 1 *eVAN o KE P 0 20 2
N 32~~2 ¢ K973 1NN-1 100 -40 1|IN ~22~2 ¢ Q76 3NN-2 100 40 1
S 33 ~~2 48742 2CN-2 200 60 1||S ~22~2 ¢ AJ854 25W2 110 40 2
E ~~~1~a&Q9 E1~~1~ &QT9 2SE2 110 40 2
W ~~~1~ W 1~~1~ 1NW1 90 4.0 1
# 17 aJ 3NS-2100 Mean: 3CS3 110 3.0 4 ||# 18 s AT73 3HN4 -170 Mean: 4HS5 650 7.0 2
v Q9 3CN3-110 o0 3CN3 110 3.0 3 v AQJ4 2SW-4 -200 340  4HS4 620 7.0 3
¢ 9853 Dif: 210 NS:3  1NS1 90 30 1 + Q65 Dif: 30 NS:-4 4HN4 620 7.0 2
& KJ8765 IMP: 5 EW:3 3NS-1 50 20 1 & 87 IMP: 1 EW:5 1NE-5 250 3.0 1
» T832 & AK75 3CS-1 50 20 1 ||s QJ986 a 54 3HS5 200 40 1
v 765 v T843 3CN-1 50 20 4 ||e K83 | v T5 3HN5 200 40 1
+ AJ62 *T7 4CS-2 4100 30 1 ||e 72 * KJ43 2SW-4 200 40 2
& AT » Q92 3NS-2 100 -30 2 ||s Q95 » AT643 3HS4 170 5.0 1
® VAN 4, Q94 3NN-3 150 -40 1 ¢VAN 4 K2 3HS3 140 50 1
N 21~~1 v AKJ2 N ~45~2 ¢ 9762 3HN4 170 5.0 1
S 21~~1 ¢ K4 S ~45~4 ¢ AT9 2SW-3 150 5.0 2
E ~~~1~ 243 E ~~~~~ & KJ2 3NN-1 100 -10.0 1
W ~~~1+~ W ~ ~~~~
# 19 s Q 3NN5 -460 Mean: 4NS5 460 40 2 ||# 20 4 J3 2SE2 110 Mean: 4SE-2 200 50 1
v A654 6SS-2100 320 4NN5 460 40 1 v A74 3HN-1100 o0 3HS3 140 40 1
+ AQT Dif: -560 NS:-9 3NS5 460 40 2 + K95 Dif: 10 NS:-3 4DW-1 100 30 2
& AQT73 IMP: -11 EW:-4 3NN5 460 40 5 & AKJ72 IMP: 0 EW:3 3CN3 110 30 1
46 & KJ875 4884 420 30 1 ||aAQ # T87652 2HN2 110 30 3
v J82 v QT93 4NS4 430 30 1 ||v Q5 _I_ v KJ6 3HN-1 100 -3.0 4
¢ J9872 ¢ 65 4NN4 430 3.0 1 ||e AJT8742 * Q3 3DW3 110 3.0 2
& K942 »~ 86 3NN4 430 30 1 ||as85 » 93 2SE2 110 3.0 2
%o ¢ VAN 4AT432 6SS-2 4100 9.0 2 oV AN 4 KM 2DW3 410 3.0 1
N 5~~54 ¢K7 6NN-2 100 -90 2 |IN 3 ~2~1 ¢ T9832 4CN-2 200 -5.0 1
S 5~~54 ¢K43 S 3~2~1 ¢6
E ~~~~~ & J5 E ~3~2~ &QT64
W ~~~~~ W ~3~2~




X AY 33z >\ A —_
8 132 FEZ 2RABERFLB 2 ==> RS 8
1 +
#1: 4 JIBH(105.47) #2: 18 [¥35(104.75) #3: 7 LLI75(104.53)
1 4 NS: Z53 Mg REEC) 11 2 NS: ST BRE<F(FI0) 6 VP:| 11.50 : 8.50 | Total VP: 85.23 Rank:
EW: 2k =, BEECMBEO) -6 EW: [R#R B#<F(BAC) 1 IMP:| 20 16 8
I
# 11 s KJT74 6HN7 -1010 Mean: 6NS6 990 40 6 ||# 12 » QJ4 1NN-1 100 Mean: 1NXN2 380 100 1
v K75 6NS6 -990 860  6HS7 1010 4.0 1 v AKQT9 3NE-1-50 -60  1NN1 90 40 1
+ Q6 Dif: -20 NS:4  6HN7 1010 4.0 2 + 873 Dif: 150 NS:3  3NE-1 50 30 5
& AK5 IMP: -1 EW:-4 6HS6 980 3.0 4 » K8 IMP: 4 EW:1  1NN-1 100 -1.0 4
4 8532 s Q9 6HN6 980 30 1 ||a 986 & AK7 3CE4 4130 20 1
v 6432 v8 5HS7 510 -80 1 ||w 52 I v J763 2NE2 120 20 1
¢ 974 * KJT82 4SN6 480 -90 2 ||e AT5 + KQ4 28XS-1 200 40 1
& J3 » T8762 3HS6 230 -12.0 1 ||& AT963 » QJ5 1NXN-1 200 -40 1
B+ oV BN 4A6 oV ABN 4, T532 1NN-2 200 40 1
N ~~777 vAQJT9 N ~~~~~ v 84 28S-3 300 -6.0 1
S ~~777 ¢A53 S ~~n~~~ « J962 3NE3 400 8.0 1
E ~~~~~ » Q94 E 3~~~2 4742
W ~~~~~ W 3 ~~~2
#13 » K3 4HN4 -620 Mean: 4HS5 650 1.0 3 ||# 14 » AKQ 4SE-1-50 Mean: 4SXE-1 100 30 1
v 8632 4HS5 -650 620  4HS4 620 00 10 v 75 4HW-1-50 -20  4SE-1 50 20 9
+ K83 Dif: 30 NS:1  4HN4 620 00 3 ¢ J972 Dif: 0 NS:2 4HW-1 50 20 1
& J983 IMP: 1 EW:0 3NS4 630 00 2 & 17643 IMP: 0 EW:-2 3HW-1 50 20 1
& J96 N » QT852 & T742 » J9653 3SE3 140 -3.0 1
v K974 v Q v KJ84 v A962 2SW3 140 3.0 1
¢ JT6 + ¢ 9542 + Q64 ¢ A8 2SE3 140 -3.0 1
& T52 » K74 » AK & J2 1SE3 140 -30 1
* VAN ,AT4 FOVAN o8 3SE4 170 40 1
N 5~5~4 oAJT5 N 21~~~ »QT3 4SE4 420 9.0 1
S 5~5~4 ¢AQ7 S 21~~~ ¢KT53
E ~~~~~ & AQ6 E ~~332 & Q9875
W ~~~~~ W ~~332
# 15 o AT 1NN1 -90 Mean: 1NW-3 150 3.0 2 ||# 16 a4 A85 3NN-2 100 Mean: 1NXW-2 500 100 1
vT5 1NW-2 -100 50  1NN3 150 3.0 2 v AJT9 1NXW-2 -500 50  3NS3 400 8.0 1
* KJ95 Dif: 10 NS:2 1NW-2 100 20 3 + 963 Dif: 600 NS:10 2SW-1 100 20 1
» A8753 IMP: 0 EW:-1 1NN2 120 2.0 1 » 873 IMP: 12 EW:4 2SE-1 100 20 1
# 753 & Q9842 1NN1 90 1.0 2 ||s QJ2 » T9763 1NN2 120 20 1
v A862 v QJ4 2SE-1 50 00 1 ||v K532 — v 84 2DN2 90 1.0 1
¢ AT + Q63 1NW-1 50 00 3 ||e QT72 * K 1NS1 90 1.0 3
& K642 a JT 3DN-1 4100 -40 1 ||a K6 » AJ542 1HN1 80 1.0 1
% ¢ VAN 4,KI6 3CN-1 100 -40 1 *eVAN o KE P 0 20 2
N 32~~2 ¢ K973 1NN-1 100 -40 1|IN ~22~2 ¢ Q76 3NN-2 100 40 1
S 33 ~~2 48742 2CN-2 200 60 1||S ~22~2 ¢ AJ854 25W2 110 40 2
E ~~~1~a&Q9 E1~~1~ &QT9 2SE2 110 40 2
W ~~~1~ W 1~~1~ 1NW1 90 4.0 1
# 17 aJ 3CN3 -110 Mean: 3CS3 110 3.0 4 ||# 18 s AT73 2SW-3 -150 Mean: 4HS5 650 7.0 2
v Q9 3CN-150 o0 3CN3 110 3.0 3 v AQJ4 3HN5 -200 340  4HS4 620 7.0 3
¢ 9853 Dif: -160 NS:-2 1NS1 90 30 1 + Q65 Dif: 50 NS:-4 4HN4 620 7.0 2
& KJ8765 IMP: -4 EW:-3 3NS-1 50 20 1 & 87 IMP: 2 EW:5 1NE-5 250 3.0 1
» T832 & AK75 3CS-1 50 20 1 ||s QJ986 a 54 3HS5 200 40 1
v 765 v T843 3CN-1 50 20 4 ||e K83 | v T5 3HN5 200 40 1
+ AJ62 . T7 4CS-2 4100 30 1 ||e 72 * KJ43 2SW-4 200 40 2
& AT » Q92 3NS-2 100 -30 2 ||s Q95 » AT643 3HS4 170 5.0 1
® VAN 4, Q94 3NN-3 150 -40 1 ¢VAN 4 K2 3HS3 140 50 1
N 21~~1 v AKJ2 N ~45~2 ¢ 9762 3HN4 170 5.0 1
S 21~~1 ¢ K4 S ~45~4 ¢ AT9 2SW-3 150 5.0 2
E ~~~1~ 243 E ~~~~~ & KJ2 3NN-1 100 -10.0 1
W ~~~1+~ W ~ ~~~~
# 19 s Q 4NN4 -430 Mean: 4NS5 460 40 2 ||# 20 4 J3 4DW-1 -100 Mean: 4SE-2 200 50 1
v A654 6NN-2 100 320  4NN5 460 40 1 v A74 3HS3-140 0O 3HS3 140 40 1
+ AQT Dif: -530 NS:-9 3NS5 460 40 2 + K95 Dif: 40 NS:4 4DW-1 100 30 2
& AQT73 IMP: -11 EW:-3 3NN5 460 40 5 & AKJ72 IMP: 1 EW:-3 3CN3 110 3.0 1
46 & KJ875 4884 420 30 1 ||aAQ # T87652 2HN2 110 30 3
v J82 v QT93 4NS4 430 30 1 ||v Q5 _I_ v KJ6 3HN-1 100 -3.0 4
¢ J9872 ¢ 65 4NN4 430 3.0 1 ||e AJT8742 * Q3 3DW3 110 3.0 2
& K942 » 86 3NN4 430 30 1 ||as85 » 93 2SE2 110 3.0 2
%o ¢ VAN 4AT432 6SS-2 4100 9.0 2 oV AN 4 KM 2DW3 410 3.0 1
N 5~~54 ¢K7 6NN-2 100 -90 2 |IN 3 ~2~1 ¢ T9832 4CN-2 200 -5.0 1
S 5~~54 ¢K43 S 3~2~1 ¢6
E ~~~~~ & J5 E ~3~2~ &QT64
W ~~~~~ W ~3~2~




X AY 33z >\ A —_
8 113 EXF 2 ABERFL>B 2 ==> RS 8
1 +
#1: 4 JIBH(105.47) #2: 18 [¥35(104.75) #3: 7 LLI75(104.53)
1 5 NS: BREEE #AT-HEGHO) 16 18 NS: &4 BREAFI(BAC) 8 VP:| 13.14 : 6.86 Total VP: 101.89 Rank:
EW: 23X 38 BB EEAC) -8 EW: R0 @ E(BO) -1 IMP:| 21 12 4
I
# 11 s KJT74 6NS6 990 Mean: 6NS6 990 40 6 ||# 12 » QJ4 1NXN2 380 Mean: 1NXN2 380 100 1
v K75 6HS6 980 860  6HS7 1010 4.0 1 v AKQT9 3NE-150 -60  1NN1 90 40 1
+ Q6 Dif: 10 NS:4  6HN7 1010 4.0 2 + 873 Dif: 330 NS:10 3NE-1 50 30 5
& AK5 IMP: 0 EW:-3 6HS6 980 3.0 4 » K8 IMP: 8 EW:-3 1NN-1 100 -1.0 4
4 8532 s Q9 6HN6 980 30 1 ||a 986 & AK7 3CE4 4130 20 1
v 6432 v8 5HS7 510 -80 1 ||w 52 I v J763 2NE2 120 20 1
¢ 974 * KJT82 4SN6 480 -90 2 ||e AT5 + KQ4 28XS-1 200 40 1
& J3 » T8762 3HS6 230 -12.0 1 ||& AT963 » QJ5 1NXN-1 200 -40 1
B+ oV BN 4A6 oV ABN 4, T532 1NN-2 200 40 1
N ~~777 vAQJT9 N ~~~~~ v 84 28S-3 300 -6.0 1
S ~~777 ¢A53 S ~~n~~~ « J962 3NE3 400 8.0 1
E ~~~~~ » Q94 E 3~~~2 4742
W ~~~~~ W 3 ~~~2
#13 » K3 4HS4 620 Mean: 4HS5 650 1.0 3 ||# 14 » AKQ 1SE3 -140 Mean: 4SXE-1 100 30 1
v 8632 3NS4 630 620 4HS4 620 00 10 v 75 4SE-150 -20  4SE-1 50 20 9
+ K83 Dif: 10 NS:0 4HN4 620 00 3 ¢ J972 Dif: -190 NS:-3  4HW-1 50 20 1
& J983 IMP: 0 EW:0 3NS4 630 00 2 & 17643 IMP: -5 EW:-2 3HW-1 50 20 1
& J96 N » QT852 & T742 » J9653 3SE3 140 -3.0 1
v K974 v Q v KJ84 v A962 2SW3 140 3.0 1
¢ JT6 + ¢ 9542 + Q64 ¢ A8 2SE3 140 -3.0 1
T52 a K74 a AK a J2 1SE3 140 3.0 1
* VAN ,AT4 FOVAN o8 3SE4 170 40 1
N 5~5~4 ¢AJTS N 21~~~ »QT3 4SE4 420 9.0 1
S 5~5~4 ¢AQ7 S 21~~~ ¢KT53
E ~~~~~ & AQ6 E ~~332 & Q9875
W ~~~~~ W ~~332
# 15 o AT 1NW-3 150 Mean: 1NW-3 150 3.0 2 ||# 16 a4 A85 1NW1 -90 Mean: 1INXW-2 500 10.0 1
vT5 1NW-150 50  1NN3 150 3.0 2 v AJT9 2SW2 -110 50  3NS3 400 8.0 1
* KJ95 Dif: 100 NS:3 1NW-2 100 20 3 + 963 Dif: 20 NS:-4 2SW-1 100 20 1
» A8753 IMP: 3 EW:0 1NN2 120 2.0 1 » 873 IMP: 1 EW:4 2SE-1 100 20 1
# 753 & Q9842 1NN1 90 1.0 2 ||s QJ2 » T9763 1NN2 120 20 1
v A862 v QJ4 2SE-1 50 00 1 ||ew K532 — v 84 2DN2 90 1.0 1
¢ AT + Q63 1NW-1 50 00 3 ||e QT72 * K 1NS1 90 1.0 3
& K642 a JT 3DN-1 4100 -40 1 ||a K6 » AJ542 1HN1 80 1.0 1
% ¢ VAN 4,KI6 3CN-1 100 -40 1 *eVAN o KE P 0 20 2
N 32~~2 ¢ K973 1NN-1 100 -40 1|IN ~22~2 ¢ Q76 3NN-2 100 40 1
S 33 ~~2 48742 2CN-2 200 60 1||S ~22~2 ¢ AJ854 25W2 110 40 2
E ~~~1~a&Q9 E1~~1~ &QT9 2SE2 110 40 2
W ~~~1~ W 1~~1~ 1NW1 90 4.0 1
# 17 aJ 3CN-1-50 Mean: 3CS3 110 3.0 4 ||# 18 s AT73 4HN4 620 Mean: 4HS5 650 7.0 2
v Q9 3CN-1-50 o0 3CN3 110 3.0 3 v AQJ4 1NE-5250 340 4HS4 620 7.0 3
¢ 9853 Dif: 0 NS:-2 1NS1 90 30 1 + Q65 Dif: 370 NS:7 4HN4 620 7.0 2
& KJ8765 IMP: 0 EW:2 3NS-1 50 20 1 & 87 IMP: 9 EW:3 1NE-5 250 3.0 1
» T832 & AK75 3CS-1 50 20 1 ||s QJ986 a 54 3HS5 200 40 1
v 765 v T843 3CN-1 50 20 4 ||e K83 | v T5 3HN5 200 40 1
+ AJ62 *T7 4CS-2 4100 30 1 ||e 72 * KJ43 2SW-4 200 40 2
& AT » Q92 3NS-2 100 -30 2 ||s Q95 » AT643 3HS4 170 5.0 1
® VAN 4, Q94 3NN-3 150 -40 1 ¢VAN 4 K2 3HS3 140 50 1
N 21~~1 v AKJ2 N ~45~2 ¢ 9762 3HN4 170 5.0 1
S 21 ~~1 ¢KQ4 S ~45~4 ¢ AT9 2SW-3 150 5.0 2
E ~~~1~ 243 E ~~~~~ & KJ2 3NN-1 100 -10.0 1
W ~~~1+~ W ~ ~~~~
# 19 s Q 4NN5 460 Mean: 4NS5 460 40 2 ||# 20 4 J3 3HN-1 -100 Mean: 4SE-2 200 50 1
v A654 4NS5460 320 4NN5 460 40 1 v A74 4SE-2200 o0 3HS3 140 40 1
+ AQT Dif: 0 NS:4 3NS5 460 40 2 + K95 Dif: -300 NS:-3 4DW-1 100 30 2
& AQT73 IMP: 0 EW:-4 3NN5 460 40 5 & AKJ72 IMP: -7 EW:-5 3CN3 110 3.0 1
46 & KJ875 4884 420 30 1 ||aAQ # T87652 2HN2 110 30 3
v J82 v QT93 4NS4 430 30 1 ||v Q5 _I_ v KJ6 3HN-1 100 -3.0 4
¢ J9872 ¢ 65 4NN4 430 3.0 1 ||e AJT8742 * Q3 3DW3 110 3.0 2
& K942 »~ 86 3NN4 430 30 1 ||as85 » 93 2SE2 110 3.0 2
%o ¢ VAN 4AT432 6SS-2 4100 9.0 2 oV AN 4 KM 2DW3 410 3.0 1
N 5~~54 ¢K7 6NN-2 100 -90 2 |IN 3 ~2~1 ¢ T9832 4CN-2 200 -5.0 1
S 5~~54 ¢K43 S 3~2~1 ¢6
E ~~~~~ & J5 E ~3~2~ &QT64
W ~~~~~ W ~3~2~




X AY 33z >\ A —_
8 113 EXF 2 ABERFL>B 2 ==> RS 8
1 +
#1: 4 JIBH(105.47) #2: 18 [¥35(104.75) #3: 7 LLI75(104.53)
1 6 NS: BE®E &58BEIC) 2 10 NS: 83K Z#EI5(BRO) -1 VP:| 10.77 : 9.23 Total VP: 59.09 Rank:
EW: BEEGR BEY%(REO) 1 EW: #3132 2BEHR(BAC) -2 IMP:| 23 21 16
I
# 11 s KJT74 6HS6 -980 Mean: 6NS6 990 40 6 |[# 12 s QJ4 3NE-1-50 Mean: 1NXN2 380 100 1
v K75 6HS7 -1010 860  6HS7 1010 4.0 1 v AKQT9 3NE3400 -60  1NN1 90 40 1
+ Q6 Dif: 30 NS:4 6HN7 1010 4.0 2 + 873 Dif: -450 NS:-8 3NE-1 50 30 5
& AK5 IMP: 1 EW:-3 6HS6 980 3.0 4 » K8 IMP: -10 EW:-3 1NN-1 100 -1.0 4
4 8532 s Q9 6HN6 980 30 1 ||a 986 & AK7 3CE4 4130 20 1
v 6432 v8 5HS7 510 -80 1 ||w 52 I v J763 2NE2 120 20 1
¢ 974 * KJT82 4SN6 480 -90 2 ||e AT5 + KQ4 28XS-1 200 40 1
& J3 » T8762 3HS6 230 -12.0 1 ||& AT963 » QJ5 1NXN-1 200 -40 1
B+ oV BN 4A6 oV ABN 4, T532 1NN-2 200 40 1
N ~~777 vAQJT9 N ~~~~~ v 84 28S-3 300 -6.0 1
S ~~777 ¢A53 S ~~n~~~ « J962 3NE3 400 8.0 1
E ~~~~~ & Q94 E 3~~~2 #1742
W ~~~~~ W 3 ~~~2
#13 » K3 4HS4 -620 Mean: 4HS5 650 1.0 3 ||# 14 » AKQ 4SE-1 -50 Mean: 4SXE-1 100 30 1
v 8632 4HS4 -620 620  4HS4 620 00 10 v 75 4SE4 420 -20  4SE-1 50 20 9
+ K83 Dif: 0 NS:0 4HN4 620 00 3 ¢ J972 Dif: -470 NS:-9 4HW-1 50 20 1
& J983 IMP: 0 EW:0 3NS4 630 00 2 & 17643 IMP: -10 EW:-2 3HW-1 50 20 1
& J96 N » QT852 & T742 » J9653 3SE3 140 -3.0 1
v K974 v Q v KJ84 v A962 2SW3 140 3.0 1
¢ JT6 + ¢ 9542 + Q64 ¢ A8 2SE3 140 -3.0 1
T52 a K74 a AK a J2 1SE3 140 3.0 1
e VABN A4 oo VAN o8 3SE4 170 40 1
N 5~5~4 ¢AJTS N 21~~~ »QT3 4SE4 420 9.0 1
S 5~5~4 ¢AQ7 S 21~~~ ¢KT53
E ~~~~~ & AQ6 E ~~332 & Q9875
W ~~~~~ W ~~332
# 15 o AT 1NN-1 100 Mean: 1NW-3 150 3.0 2 ||# 16 a4 A85 2SE2 110 Mean: 1NXW-2 500 100 1
vT5 1NW-1-50 50  1NN3 150 3.0 2 v AJT9 PO 50  3NS3 400 8.0 1
* KJ95 Dif: 150 NS:0 1NW-2 100 20 3 + 963 Dif: 110 NS:-2 2SW-1 100 20 1
» A8753 IMP: 4 EW:4 1NN2 120 2.0 1 » 873 IMP: 3 EW:4 2SE-1 100 20 1
# 753 & Q9842 1NN1 90 1.0 2 ||s QJ2 » T9763 1NN2 120 20 1
v A862 v QJ4 2SE-1 50 00 1 ||v K532 — v 84 2DN2 90 1.0 1
¢ AT + Q63 1NW-1 50 00 3 ||e QT72 * K 1NS1 90 1.0 3
& K642 a JT 3DN-1 4100 -40 1 ||a K6 » AJ542 1HN1 80 1.0 1
% ¢ VAN 4,KI6 3CN-1 100 -40 1 *eVAN o KE P 0 20 2
N 32~~2 ¢ K973 1NN-1 100 -40 1|IN ~22~2 ¢ Q76 3NN-2 100 40 1
S 33 ~~2 48742 2CN-2 200 60 1||S ~22~2 ¢ AJ854 25W2 110 40 2
E ~~~1~a&Q9 E1~~1~ &QT9 2SE2 110 40 2
W ~~~1~ W 1~~1~ 1NW1 90 4.0 1
# 17 aJ 3CN3 -110 Mean: 3CS3 110 3.0 4 ||# 18 s AT73 2SW-4 -200 Mean: 4HS5 650 7.0 2
v Q9 1NS1-90 o 3CN3 110 3.0 3 v AQJ4 4HS4 -620 340  4HS4 620 7.0 3
¢ 9853 Dif: -20 NS:3  1NS1 90 30 1 + Q65 Dif: 420 NS:7 4HN4 620 7.0 2
& KJ8765 IMP: -1 EW:-3 3NS-1 50 20 1 & 87 IMP: 9 EW:4 1NE-5 250 3.0 1
» T832 & AK75 3CS-1 50 20 1 ||s QJ986 a 54 3HS5 200 40 1
v 765 v T843 3CN-1 50 20 4 ||e K83 | v T5 3HN5 200 40 1
+ AJ62 . T7 4CS-2 4100 30 1 ||e 72 * KJ43 2SW-4 200 40 2
& AT » Q92 3NS-2 100 -30 2 ||s Q95 » AT643 3HS4 170 5.0 1
® VAN 4, Q94 3NN-3 150 -40 1 ¢VAN 2 K2 3HS3 140 50 1
N 21~~1 v AKJ2 N ~45~2 ¢ 9762 3HN4 170 5.0 1
S 21~~1 ¢ K4 S ~45~4 ¢ AT9 2SW-3 150 5.0 2
E ~~~1~ 243 E ~~~~~ & KJ2 3NN-1 100 -10.0 1
W ~~~1+~ W ~ ~~~~
# 19 s Q 4NS4 -430 Mean: 4NS5 460 40 2 ||# 20 4 J3 3DW3 110 Mean: 4SE-2 200 50 1
v A654 3NS5-460 320  4NN5 460 40 1 v A74 4DW-1-100 0 3HS3 140 40 1
+ AQT Dif: 30 NS:4 3NS5 460 40 2 + K95 Dif: 210 NS:3 4DW-1 100 30 2
& AQT73 IMP: 1 EW:-3 3NN5 460 40 5 & AKJ72 IMP: 5 EW:3 3CN3 110 3.0 1
46 & KJ875 4884 420 30 1 ||aAQ # T87652 2HN2 110 30 3
v J82 v QT93 4NS4 430 30 1 ||v Q5 _I_ v KJ6 3HN-1 100 -3.0 4
¢ J9872 ¢ 65 4NN4 430 3.0 1 ||e AJT8742 * Q3 3DW3 110 3.0 2
& K942 »~ 86 3NN4 430 30 1 ||as85 » 93 2SE2 110 3.0 2
%o ¢ VAN 4AT432 6SS-2 4100 9.0 2 oV AN 4 KM 2DW3 410 3.0 1
N 5~~54 ¢K7 6NN-2 100 -90 2 |IN 3 ~2~1 ¢ T9832 4CN-2 200 -5.0 1
S 5~~54 ¢K43 S 3~2~1 ¢6
E ~~~~~ & J5 E ~3~2~ &QT64
W ~~~~~ W ~3~2~




X AY 33z >\ A —_
8 113 EXF 2 ABERFL>B 2 ==> RS 8
1 +
#1: 4 JIBH(105.47) #2: 18 [¥35(104.75) #3: 7 LLI75(104.53)
1 7 NS: BRAERE #EsRERC) -10 7 NS: E{g{& BI#(FH0) 12 VP:| 3.61 16.39| Total VP: 74.76 Rank:
EW: {528 iR&#2(EH0) -12 EW: BMSE 2HEX(BAC) 10 IMP:| 12 34 10
I
# 11 s KJT74 6HS6 -980 Mean: 6NS6 990 40 6 |[# 12 s QJ4 3NE-1-50 Mean: 1NXN2 380 100 1
v K75 3HS6 -230 860  6HS7 1010 4.0 1 v AKQT9 2NE2120 -60  1NN1 90 40 1
+ Q6 Dif: -750 NS:-12 6HN7 1010 4.0 2 + 873 Dif: -170 NS:-2 3NE-1 50 30 5
& AK5 IMP: -13 EW:-3 6HS6 980 3.0 4 » K8 IMP: -5 EW:-3 1NN-1 100 -1.0 4
4 8532 s Q9 6HN6 980 30 1 ||a 986 & AK7 3CE4 4130 20 1
v 6432 v8 5HS7 510 -80 1 ||w 52 I v J763 2NE2 120 20 1
¢ 974 * KJT82 4SN6 480 -90 2 ||e AT5 + KQ4 28XS-1 200 40 1
& J3 » T8762 3HS6 230 -12.0 1 ||& AT963 » QJ5 1NXN-1 200 -40 1
B+ oV BN 4A6 oV ABN 4, T532 1NN-2 200 40 1
N ~~777 vAQJT9 N ~~~~~ v 84 28S-3 300 -6.0 1
S ~~777 ¢A53 S ~~n~~~ « J962 3NE3 400 8.0 1
E ~~~~~ & Q94 E 3~~~2 #1742
W ~~~~~ W 3 ~~~2
#13 » K3 4HN4 -620 Mean: 4HS5 650 1.0 3 ||# 14 » AKQ 2SE3 140 Mean: 4SXE-1 100 30 1
v 8632 4HS4 -620 620  4HS4 620 00 10 v 75 3HW-1-50 -20 4SE-1 50 20 9
+ K83 Dif: 0 NS:0 4HN4 620 00 3 ¢ J972 Dif: 190 NS:2  4HW-1 50 20 1
& J983 IMP: 0 EW:0 3NS4 630 00 2 & 17643 IMP: 5 EW:3 3HW-1 50 20 1
& J96 N » QT852 & T742 » J9653 3SE3 140 -3.0 1
v K974 v Q v KJ84 v A962 2SW3 140 3.0 1
¢ JT6 + ¢ 9542 + Q64 ¢ A8 2SE3 140 -3.0 1
T52 a K74 a AK a J2 1SE3 140 3.0 1
e VABN A4 oo VAN o8 3SE4 170 40 1
N 5~5~4 ¢AJTS N 21~~~ »QT3 4SE4 420 9.0 1
S 5~5~4 ¢AQ7 S 21~~~ ¢KT53
E ~~~~~ & AQ6 E ~~332 & Q9875
W ~~~~~ W ~~332
# 15 o AT 1NW-1 -50 Mean: 1NW-3 150 3.0 2 ||# 16 a4 A85 1NS1-90 Mean: 1INXW-2 500 100 1
vT5 3DN-1100 50  1NN3 150 3.0 2 v AJT9 2SW-1-100 50  3NS3 400 8.0 1
* KJ95 Dif: -150 NS:-4 1NW-2 100 20 3 + 963 Dif: 10 NS:2 2SW-1 100 20 1
» A8753 IMP: -4 EW:0 1NN2 120 2.0 1 » 873 IMP: 0 EW:-1 2SE-1 100 20 1
# 753 & Q9842 1NN1 90 1.0 2 ||s QJ2 » T9763 1NN2 120 20 1
v A862 v QJ4 2SE-1 50 00 1 ||ew K532 — v 84 2DN2 90 1.0 1
¢ AT + Q63 1NW-1 50 00 3 ||e QT72 * K 1NS1 90 1.0 3
& K642 a JT 3DN-1 4100 -40 1 ||a K6 » AJ542 1HN1 80 1.0 1
% ¢ VAN 4,KI6 3CN-1 100 -40 1 *eVAN o KE P 0 20 2
N 32~~2 ¢ K973 1NN-1 100 -40 1|IN ~22~2 ¢ Q76 3NN-2 100 40 1
S 33 ~~2 48742 2CN-2 200 60 1||S ~22~2 ¢ AJ854 25W2 110 40 2
E ~~~1~a&Q9 E1~~1~ &QT9 2SE2 110 40 2
W ~~~1~ W 1~~1~ 1NW1 90 4.0 1
# 17 aJ 3CS3 -110 Mean: 3CS3 110 3.0 4 ||# 18 s AT73 4HS5 -650 Mean: 4HS5 650 7.0 2
v Q9 3CS3-110 o 3CN3 110 3.0 3 v AQJ4 4HS4 -620 340  4HS4 620 7.0 3
¢ 9853 Dif: 0 NS:3 1NS1 90 30 1 + Q65 Dif: -30 NS:7 4HN4 620 7.0 2
& KJ8765 IMP: 0 EW:-3 3NS-1 50 20 1 & 87 IMP: -1 EW:-7 1NE-5 250 3.0 1
» T832 & AK75 3CS-1 50 20 1 ||s QJ986 a 54 3HS5 200 40 1
v 765 v T843 3CN-1 50 20 4 ||e K83 | v T5 3HN5 200 40 1
+ AJ62 . T7 4CS-2 4100 30 1 ||e 72 * KJ43 2SW-4 200 40 2
& AT » Q92 3NS-2 100 -30 2 ||s Q95 » AT643 3HS4 170 5.0 1
® VAN 4, Q94 3NN-3 150 -40 1 ¢VAN 2 K2 3HS3 140 50 1
N 21~~1 v AKJ2 N ~45~2 ¢ 9762 3HN4 170 5.0 1
S 21~~1 ¢ K4 S ~45~4 ¢ AT9 2SW-3 150 5.0 2
E ~~~1~ 243 E ~~~~~ & KJ2 3NN-1 100 -10.0 1
W ~~~1+~ W ~ ~~~~
# 19 s Q 3NN4 -430 Mean: 4NS5 460 40 2 ||# 20 4 J3 4CN-2 200 Mean: 4SE-2 200 50 1
v A654 6NN-2 100 320  4NN5 460 40 1 v A74 3CN3-110 0 3HS3 140 40 1
+ AQT Dif: -530 NS:-9 3NS5 460 40 2 + K95 Dif: 310 NS:3 4DW-1 100 30 2
& AQT73 IMP: -11 EW:-3 3NN5 460 40 5 & AKJ72 IMP: 7 EW:5 3CN3 110 3.0 1
46 & KJ875 4884 420 30 1 ||aAQ # T87652 2HN2 110 30 3
v J82 v QT93 4NS4 430 30 1 ||v Q5 _I_ v KJ6 3HN-1 100 -3.0 4
¢ J9872 ¢ 65 4NN4 430 3.0 1 ||e AJT8742 * Q3 3DW3 110 3.0 2
& K942 »~ 86 3NN4 430 30 1 ||as85 » 93 2SE2 110 3.0 2
%o ¢ VAN 4AT432 6SS-2 4100 9.0 2 oV AN 4 KM 2DW3 410 3.0 1
N 5~~54 ¢K7 6NN-2 100 -90 2 |IN 3 ~2~1 ¢ T9832 4CN-2 200 -5.0 1
S 5~~54 ¢K43 S 3~2~1 ¢6
E ~~~~~ & J5 E ~3~2~ &QT64
W ~~~~~ W ~3~2~




X AY 33z >\ A —_
8 113 EXF 2 ABERFL>B 2 ==> RS 8
1 +
#1: 4 JIBH(105.47) #2: 18 [¥35(104.75) #3: 7 LLI75(104.53)
1 8 NS: #5145 BREATEAC) 8 1 5 NS: FREE #T 5 (BAO) 16| VP:| 6.86 13.14| Total VP: 104.75 Rank:
EW: =884 o[ L ZE(BHO) -16 EW: 28X BER(BAC) -8 IMP:| 12 21 2
I
# 11 s KJT74 6NS6 -990 Mean: 6NS6 990 40 6 ||# 12 » QJ4 1NXN2 -380 Mean: 1NXN2 380 100 1
v K75 6HS6 -980 860  6HS7 1010 4.0 1 v AKQT9 3NE-1-50 -60  1NN1 90 40 1
+ Q6 Dif: 10 NS:3  6HN7 1010 4.0 2 + 873 Dif: -330 NS:3  3NE-1 50 30 5
& AK5 IMP: 0 EW:-4 6HS6 980 3.0 4 » K8 IMP: -8 EW:-10 1NN-1 100 -1.0 4
4 8532 s Q9 6HN6 980 30 1 ||a 986 & AK7 3CE4 4130 20 1
v 6432 v8 5HS7 510 -80 1 ||w 52 I v J763 2NE2 120 20 1
¢ 974 * KJT82 4SN6 480 -90 2 ||e AT5 + KQ4 28XS-1 200 40 1
& J3 » T8762 3HS6 230 -12.0 1 ||& AT963 » QJ5 1NXN-1 200 -40 1
B+ oV BN 4A6 oV ABN 4, T532 1NN-2 200 40 1
N ~~777 vAQJT9 N ~~~~~ v 84 28S-3 300 -6.0 1
S ~~777 ¢A53 S ~~n~~~ « J962 3NE3 400 8.0 1
E ~~~~~ » Q94 E 3~~~2 4742
W ~~~~~ W 3 ~~~2
#13 » K3 4HS4 -620 Mean: 4HS5 650 1.0 3 ||# 14 » AKQ 1SE3 140 Mean: 4SXE-1 100 30 1
v 8632 3NS4 -630 620 4HS4 620 00 10 v 75 4SE-1-50 -20  4SE-1 50 20 9
+ K83 Dif: 10 NS:0 4HN4 620 00 3 ¢ J972 Dif: 190 NS:2  4HW-1 50 20 1
& J983 IMP: 0 EW:0 3NS4 630 00 2 & 17643 IMP: 5 EW:3 3HW-1 50 20 1
& J96 N » QT852 & T742 » J9653 3SE3 140 -3.0 1
v K974 v Q v KJ84 v A962 2SW3 140 3.0 1
¢ JT6 + ¢ 9542 + Q64 ¢ A8 2SE3 140 -3.0 1
T52 a K74 a AK a J2 1SE3 140 3.0 1
e VABN A4 oo VAN o8 3SE4 170 40 1
N 5~5~4 ¢AJTS N 21~~~ »QT3 4SE4 420 9.0 1
S 5~5~4 ¢AQ7 S 21~~~ ¢KT53
E ~~~~~ & AQ6 E ~~332 & Q9875
W ~~~~~ W ~~332
# 15 o AT 1NW-3 -150 Mean: 1NW-3 150 3.0 2 ||# 16 a4 A85 1NW1 90 Mean: 1NXW-2 500 10.0 1
vT5 1NW-1-50 50  1NN3 150 3.0 2 v AJT9 2SW2110 50  3NS3 400 8.0 1
* KJ95 Dif: -100 NS:0 1NW-2 100 20 3 + 963 Dif: -20 NS:-4 2SW-1 100 20 1
» A8753 IMP: -3 EW:-3 1NN2 120 2.0 1 » 873 IMP: -1 EW:4 2SE-1 100 20 1
# 753 & Q9842 1NN1 90 1.0 2 ||s QJ2 » T9763 1NN2 120 20 1
v A862 v QJ4 2SE-1 50 00 1 ||v K532 — v 84 2DN2 90 1.0 1
¢ AT + Q63 1NW-1 50 00 3 ||e QT72 * K 1NS1 90 1.0 3
& K642 a JT 3DN-1 4100 -40 1 ||a K6 » AJ542 1HN1 80 1.0 1
% ¢ VAN 4,KI6 3CN-1 100 -40 1 *eVAN o KE P 0 20 2
N 32~~2 ¢ K973 1NN-1 100 -40 1|IN ~22~2 ¢ Q76 3NN-2 100 40 1
S 33 ~~2 48742 2CN-2 200 60 1||S ~22~2 ¢ AJ854 25W2 110 40 2
E ~~~1~a&Q9 E1~~1~ &QT9 2SE2 110 40 2
W ~~~1~ W 1~~1~ 1NW1 90 4.0 1
# 17 aJ 3CN-150 Mean: 3CS3 110 3.0 4 ||# 18 s AT73 4HN4 -620 Mean: 4HS5 650 7.0 2
v Q9 3CN-150 o0 3CN3 110 3.0 3 v AQJ4 1NE-5-250 340 4HS4 620 7.0 3
¢ 9853 Dif: 0 NS:-2 1NS1 90 30 1 + Q65 Dif: -370 NS:-3 4HN4 620 7.0 2
& KJ8765 IMP: 0 EW:2 3NS-1 50 20 1 & 87 IMP: -9 EW:-7 1NE-5 250 3.0 1
» T832 & AK75 3CS-1 50 20 1 ||s QJ986 a 54 3HS5 200 40 1
v 765 v T843 3CN-1 50 20 4 ||e K83 | v T5 3HN5 200 40 1
+ AJ62 *T7 4CS-2 4100 30 1 ||e 72 * KJ43 2SW-4 200 40 2
& AT » Q92 3NS-2 100 -30 2 ||s Q95 » AT643 3HS4 170 5.0 1
® VAN 4, Q94 3NN-3 150 -40 1 ¢VAN 4 K2 3HS3 140 50 1
N 21~~1 v AKJ2 N ~45~2 ¢ 9762 3HN4 170 5.0 1
S 21~~1 ¢ K4 S ~45~4 ¢ AT9 2SW-3 150 5.0 2
E ~~~1~ 243 E ~~~~~ & KJ2 3NN-1 100 -10.0 1
W ~~~1+~ W ~ ~~~~
# 19 s Q 4NN5 -460 Mean: 4NS5 460 40 2 ||# 20 4 J3 3HN-1 100 Mean: 4SE-2 200 50 1
v A654 4NS5 -460 320  4NN5 460 40 1 v A74 4SE-2-200 O 3HS3 140 40 1
+ AQT Dif: 0 NS:4 3NS5 460 40 2 + K95 Dif: 300 NS:5 4DW-1 100 30 2
& AQT73 IMP: 0 EW:-4 3NN5 460 40 5 & AKJ72 IMP: 7 EW:3 3CN3 110 30 1
46 & KJ875 4884 420 30 1 ||aAQ # T87652 2HN2 110 30 3
v J82 v QT93 4NS4 430 30 1 ||v Q5 _I_ v KJ6 3HN-1 100 -3.0 4
¢ J9872 ¢ 65 4NN4 430 3.0 1 ||e AJT8742 * Q3 3DW3 110 3.0 2
& K942 »~ 86 3NN4 430 30 1 ||as85 » 93 2SE2 110 3.0 2
%o ¢ VAN 4AT432 6SS-2 4100 9.0 2 oV AN 4 KM 2DW3 410 3.0 1
N 5~~54 ¢K7 6NN-2 100 -90 2 |IN 3 ~2~1 ¢ T9832 4CN-2 200 -5.0 1
S 5~~54 ¢K43 S 3~2~1 ¢6
E ~~~~~ & J5 E ~3~2~ &QT64
W ~~~~~ W ~3~2~




